PISCO.

http://en.piSco.co.jp

=

BEG G ETTTES

<
o8
P
Oc
<

Vacuum Pad with Long Stroke Holder

Vacuum Pad Long Stroke Series |

@ Suitable for work-pieces with different height

® Various selections of pad size and pad material.
¥ Pad type . Standard (General & Deep type), Sponge, Bellows, Oval, Skidproof,
Flat (N3%, and Mark-free
¥ Pad size . Standard (General type) — 94, 06, 98, 210, 915, 620, 925, 30, 40, 50mm
Standard (Deep type) — @15, 20, 825, 230, 40, 250mm
Sponge — 210, 915, 820, 25, 630, 235, 50mm
Bellows — g6 ("B, 98 (YEW, 210. o1540EW, 20, 0254EW, 230, 240, 250mm
Oval — 2x4 (a0, 3.5x7 (AW, 4x10, 4x20, 4x30, 5x10, 5x20,
5%30, 6x10, 6x20, 6x30, 8x20, 8x30mm
Skidproof =210, 920, 830, 240, 50mm
Flat (A% — 10, 15, 820, 225, 330mm
and Mark-free — 210, 20, 230mm
[ Pad material . Nitrile rubber, Silicone rubber, Urethane rubber, Fluoro rubber,
Conductive Silicone rubber, Conductive Butadiene rubber (Low resistance type),
Conductive NBR (Low resistance type) (NE%,
Oilproof NBR (Low resistance type), NBR suited to the Japan food sanitation act.,
Chloroprene rubber (Sponge type), Silicone rubber (Sponge type) 4E% ,
HNBR (2%, EPDM 2%, PEEK, POM, Conductive PEEK
W Holder type : 2 types (with / without Cover)




II Vacuum Pad Series

. Vacuum Pad Long Stroke Series

VACUUM
PAD

819

N
Long Stoke
Seres

Bl Model Designation (Example)

@? Ney) l)

Vacuum pad
) Fllter (option)
Holder type Free holder or Fall prevention valve (option)
Pad size Mark-freg resin attachment material (option for Bellows ped type only)
Stroke Mark-free resin attachment (option for Bellows pad type only)
7 v :
Pad type \ Spring cover
® ®
Pad material Port size and joint type
@. Holder type ! vp
Code © Code D
Type Spring type / Top port Type Spring type / Side port
]
= =
I!I =
= | |11
==
[T 1]
®. Pad size
Code | 4 6 8 10 15 [ 20 | 25 | 30 [ 35 | 40 | 50
Standard @4 06 8 210 215 220 025 230 - 240 250
o|Sponge]  — - - 210 o15 220 225 230 235 - 250
BlBelows|  — 06 28 210 | @15 | 220 | 025 | 030 - 240 | 50
g Skidproof| ~ — - - 210 - 220 - 230 - 240 250
~ | Flat - - - 210 015 220 925 230 - - -
Markfieel  — - - 210 - 220 - 230 - - -
M Oval
A c 4mm 7mm 10mm 20mm 30mm B
2mm 2X4 — — — — ‘
4mm — — 4x10 4x20 4x30
5mm — — 5% 10 5x20 5% 30
6mm — — 6X10 6X20 6 X 30
8mm — — — 8x 20 8 x 30
®. Stroke
Code 10 15 20 30 40 50
Stroke 10mm 15mm 20mm 30mm 40mm 50mm
@®. Pad type
Code R [ A g B E K F Q
Type Standard Sponge Bellows Oval Skidproof Flat Mark-free
General type | Deep type
ro.y I ¥ 9 ir
dE SN




PISCO.

http://en.pisSc0.CO.jp

(®. Pad material and application

. Nitrile | Silicone |Urethane| Fluoro | Conductive Slicone | CndefeBiadereniter | Conductive NBR | NBR s o e Japan
Material rubber | rubber | rubber | rubber | rubber |{Lowessiancefpe) | (Lowresiiance type) | foodsaniainact HNBR | EPDM
i e N S U F SE E NE G HN EP
§(Deey) N S| U F = = NE G HN EP
© |Bellows N S U F SE - NE - HN EP
& |Oval N S U F SE E NE = HN EP
Skt NH S| U F = = NE = = =
Flat N S U F SE - NE - - -
Application | Cardboard | Semiconductors | Cardboard | Chericaleniionment | Semiconductors | General parts of | Semiconductors | Cardboard | Cardboard | - Application
Plywood | Tt mobiedpas | Iron plate | ightem.vrkieces | Tang ot moledpas | semiconductors Plywood | Plywood | that requires
Iron plate | Thin work-pieces | Plywood Thin work-pieces Iron plate | Iron plate | light-resistance u;
Food-related | Food-related Food-related Food-related | Food-related | or ozone-proof. g(é
Ober el ok Other general | Other general| For use in <
work-pieces | work-pieces | a moisture-
Foruse underalow | containing
ozone concentiafon | atmosphere.
envionment
Material | Chloroprene rubber| Silicone rubber PEEK POM Conductive PEEK
9 |Sponge No code S - - -
& | Vi = = K M KE
Application | Work-pieces with rough | Work-pieces with rough | Semiconductors / Manufacturing | General production lines | Semiconductors / Manufacturing
and uneven surface | and uneven surface machine for liquid crystal | Food related machine|  machine for liquid crystal
Food-related Packaging machine | Electronic components

% 1. The Conductive Silicone rubber is a silicone rubber capable of releasing static electricity. (Volume resistance: Max. 10°Q-cm)
% 2. The material of Conductive Butadiene rubber (low resistance) is a butadiene rubber. (Volume resistance: Max. 200Q-cm)
% 8. The material of Conductive NBR (low resistance) is a nitrile rubber. (Volume resistance: Max. 200Q-cm)

% 4. The material of Conductive PEEK is a PEEK. (Volume resistance: 10°Q-cm ~ 10°Q-cm)
% 5. Nitrile rubber for Skidproof pad type is oilproof NBR (Code : NH).

% 6. Pad material N, G, and NE are not suitable for use under ozone environment.

®. Port size and joint type

Jointtype]  Push-in fitting Barb fitting Push-in fitting Barb fitting

Code 4J 4B 6J 6B
0.D.xI.D. o4mmxg2.5mm o4mmxg2.5mm o6mmxg4mm o6mmxg4mm
Pad size @2mm ~ g4mm 210mm ~ g50mm

% . 4J and 4B are available for Standard (General type) and Bellows pad type only.

@. Spring cover

Code No code C
Cover with Cover without Cover
Stroke 10mm ~ 20mm 20mm ~ 50mm

(8). Mark-free resin attachment (option for Bellows pad type only)

(@) Mark-free resin attachment material (option for Bellows pad type only)

Code -Q Code K M KE
option Mark-free resin attachment Material PEEK POM Conductive PEEK
@0. Free holder or Fall prevention valve (option) @. Filter (option)
Code -FH -FHH -ECV Code \ -F15 -F30
) Free holder | Free holder , App\icab\epadswze‘ 210mm~@15mm 220mm~250mm
Option |, . = . o . Fall prevention valve
Oscillating angle * 30° | Oscilating angle - 15°




& Vacuum Pad Series
Vacuum Pad Long Stroke Series

VACUUM
PAD

821

N
Long Stoke
Seres

B Theoretical suction force N
Standard / Bellows / Skidproof / Mark-free(*1)

Pad dia. : g4mm ~ g15mm Pad dia. : 20mm ~ 50mm
20 250
*Some sizes are not available. Refer to the

18 015 following standard size list.

16 200 050 Pad type | Standard | Bellows | Skidproof | Mark-free
z z 04 — — —
T4 b LJ
<] S 06 [ J [ J - -
(=] _ o —_

212 E | 2150 € 8| @ ) —
S £ S £ -
*%,10 g g 040 g 2 010 [ ] [ ] o [ ]
= = o|ol5| @ [ J —
88 008 | E1o0 8 &
H a 5 a = 020 [ ] [ ] [ J [J
4 50 025 930 L] o [ J [
06 040 [ [ ] [ J —
| — LT 020
2 — ot T | © | & | @ [ —
Zﬁ’—/” —
0 0
0 20 40 60 80 100 0O 20 40 60 80 100
Vacuum level (-kPa) Vacuum level (-kPa)

Pad dia. : g10mm ~ g50mm Pad dia. : g10mm ~ g30mm Pad size | 2x4mm ~ 8x30mm
150 20 25
18 230 8x30
16 / 20
z B3 z
= o 14 e 6x30
8 100 050 g / 025 8 * =
s — S 45 B S 5x30, E
s £ s £ S 1 8x20 E
£ = 3 2 Y
% 3 ® 0 / 8 % éxgg 3
— o ] 020 = x
g g g 8 & S10 5x20 E
3 2 ®
g %0 o35 3 6 3 / / 4x20
£ A 230 = / 015 £ // /
4/ 025 4 5 6x10
5x10
é// 020 s 010 /%5 4x10
% T o5 [ —+— ——|357
0 e 010 o — o |2
0 20 40 60 80 100 0 20 40 60 80 100 0 20 40 60 80 100
Vacuum level (-kPa) Vacuum level (-kPa) Vacuum level (—kPa)

% 1. The theoretical suction force is calculated under a static condition. Consider the safety factor (Horizontal lifting: 1/4 and Vertical
litting: 1/8) for an actual operation.

% 2. Regarding suction force of sponge and bellows vacuum pads, the calculated suction force (theoretical suction force x safety
factor) may not be assured, due to the characteristics of vacuum pad, vacuum level, pad material and work-piece, etc. Select
the proper item based on “Vacuum Pad Selection Guide (page 479)". Carry out any necessary valuation with an actual system.



PISCO.

http://en.pisSc0.CO.jp

Bl How to insert and disconnect IS
1. How to insert and disconnect tubes (Push-in fitting)

@ Tube insertion
Insert a tube into Push-in fitting up to the tube end. Lock-claws bite the tube
and fix it automatically, then the elastic sleeve seals around the tube.
Refer to “7. Instructions for Tube Insertion” under “Common Safety Instructions
for Products Listed in This Catalog”.

® Tube disconnection
The tube is disconnected by pushing release-ring to release Lock-claws.
Make sure to stop air supply before the tube disconnection.

<
o2

Q
P
Oc
<

2. How to insert and disconnect tubes (Barb fitting)

@ Tube insertion
Insert the barb into a tube up to the barb end. The outer shape of barb seals
inside the tube. Use Tube Clamp Sleeve (%) to avoid the disconnection of
tubes.

@ Tube disconnection
Remove Tube Clamp Sleeve first, and pull the tube out.
% Refer to Minimal fitting on P.266

3. How to fix holder

In order to fix the vacuum pad holder, tighten the hexagonal nut with
a spanner. Refer to the dimensional drawings for detail.




II Vacuum Pad Series

. Vacuum Pad Long Stroke Series

VACUUM
PAD

823

N
Long Stoke
Seres

A\ Detailed Safety Instructions I

(Before using PISCO products, be sure to read “Safety Instructions” and “Common Safety Instructions for Products |
‘Listed in This Catalog on page 43-49, and “Common Safety Instructions for Vacuum Pad” on page 477-478.

1. When using conductive vacuum pad, static electricity needs to be dissipated through a metal plate, etc.,
used to fix the holder. Otherwise, the static electricity remains on the vacuum pad.

Caution
1. When using conductive vacuum pad, static electricity needs to be dissipated through a metal plate, etc.,
used to fix the holder. Otherwise, the static electricity remains on the vacuum pad.
2. Pad fixing holder for oval pad does not have conductivity. When using a conductive vacuum pad, static
electricity needs to be dissipated through the vacuum pad.
3. When using a conductive vacuum pad with a holder equipped with free holder or vacuum filter (optional
parts), static electricity needs to be dissipated through the vacuum pad.

B Applicable Tube and Related Products I

Polyurethane Tube Vacuum Generators =+ - - - - P.52
(1. Piping products catalog P.596)  \,,.,um Filter Series - + - - P.758

M Polyurethane Tube is for general pneumatic
piping and suitable for piping compactly.

Nylon Tube

(1. Piping products catalog P.608)

M Nylon Tube is for general pneumatic piping
and suitable for a high-pressure fluid
medium up to 1.5MPa (NB tube: 1.0MPa).

Vacuum Tube

(1. Piping products catalog P.612)

W Vacuum Tube is a ultra-soft tube and
suitable for piping for vacuum generators
or actuators.




PISCO.

http://en.pisSc0.CO.jp

B Standard Size List I
Spring type with Cover / Top port / Push-in fitting Spring type with Cover / Side port / Push-in fitting
Pad Port size Pad Port size
Type Page .~ |Standard \S 1 bval\sk\dwwﬂ Flat \Mam-ﬁse Type Page . |Standard 1 1 bvaI\Sk\dprmﬂ Flat \Mavk-free
size size
4mm 6mm 4mm 6mm
VPC 4mm | @ 2dmm 4mm | @ dnm
. 6mm | @ @ |350m 6mm | @ @ |357m
8mm | @ @ |4iimn 8mm | @ @ |ilmn
Standard : 825({10mm ® e 0 un® @& e Standard : 827 | 10mm ® e 0 une® ® e
Sponge : 833[15mm @ O @ im [ ] Sponge : 835|15mm @ 0 @ im [ ]
Bellows: 841 |20mm ® 0 0;mne® @ Bellows : 843|20mm ® 0 0;im® @
Oval :84925mm ® OO [ ] Oval :851[25mm ® |0 @ [ium [
Skidproof: 857 |30mm 0 0m® O e Skidproof: 859|30mm ® e 0inmn® @ e
Flat :865|35mm [ ] inm Flat :867|35mm [ ] Beflmm
Mark-ree: 873|40mm [ ] @ |idm) @ Mark-free: 875|40mm [ ] @ |idim| @
50mm ® O 0 |in ® 50mm [ 2K BK BERNK ]
mm Bmm
Bid0mm B3mn
Spring type without Cover / Top port / Push-in fitting Spring type without Cover / Side port / Push-in fitting
Pad Port size Pad Port size
Type Page ) [ Sponge]Bellows] Oval [Skidpoo] Flat [Mrkcies Type Page % |Standard Sponge[Bellows] Oval [Skidprol] Flatt [Markee
size size
6mm 6mm
VPC 0mm @ | @ | @ |%m @ | @ | @ 10 @ | @ | @ |Xm @ | @ | @
15mm| @ | @ | @ [35m [ ] 15mm| @ | @ | @ |35m [ ]
20mm @ | @ | @ 4im @ | @ | @ 20mm| @ | @ | @ |4im @ | @ | @
Standard: 826 25mm| @ | @ | @ |42 [ Standard: 828|25mm| @ | @ | @ |42 [ ]
Sponge:834|130mm| @ | @ | @ |Wm @ @ | @ Sponge:836|130mm| @ | @ | @ |Km @ @ | @
Bellows : 842|35mm [ ) Sxiomm Bellows: 844|35mm [ ] Sximm
Oval :850{40mm| @ @ |5am @ Oval :852{40mm| @ @ |5am @
Skidproof: 858|50mm| @ | @ | @ [53m| @ Skidproof: 860|50mm| @ | @ | @ [53m| @
Flat :866 [60mn | Flat :868 [ 6<omn |
Mark-free : 874 6:20mm Mark-free: 876 620mm
6:30mm 6:30mm
B20mm B20mm
8+30mm 8+30mm
Spring type with Cover / Top port / Barb fitting Spring type with Cover / Side port / Barb fitting
Pad Port size Pad Port size
Type Page " | standard]Spoge[Belows| Oval[Sidyoof Flat Mercfes Type Page > | standard]Sponge[Belows| Oval[Sidyoof Flat latcfee
size 4mm 6mm size 4mm 6mm
VPC 4mm | @ ddmn VPD 4mm | @ 2dmm
6mm | @ @ [357m 6mm | @ @ [357m
8mm | @ @ |4flmn 8mm | @ @ |ilmn
Standard : 829 10mm [ ] @ |im@® @ ® Standard : 831 |10mm [ ] Q@ |um @ | @
Sponge : 837|15mm [ ] @ |4mn [ ] Sponge : 839|15mm [ ] @ |4dimn [ ]
Bellows : 845 |20mm [ ] ®5im® @ @ Bellows : 847 |20mm [ ] @ |5im @ | @
Oval :853|25mm [ ] @ |5 [ ] Oval :855|25mm [ ] @ |5mn [ ]
Skidproof: 861 |30mm [ ] @®iim @ @ | @ Skidproof : 863 |30mm [ ] @ iim @ | @
Flat :869|35mm rfOmm Flat :871|35mm Brf0mm
Mark-ree: 877 |40mm [ ] @ |idm) @ Mark-free: 879|40mm [ ] @ |idim| @
50mm [ ] @ |63m| @ 50mm [ ) @ |63m| @
8mn Bimm
Bid0mm B:3mn
Spring type without Cover / Top port / Barb fitting Spring type without Cover / Side port / Barb fitting
Pad Port size Pad Port size
Type Page . ’W‘W! p 1" l 10val \Sk\dpmm\ Flat \Mark-ﬂee Type Page . %Mﬂ"‘l P 1 IOvaI \Sk\dpmoﬂ Flat \Mark—[ree
size size
6mm 6mm
VPC 10mm @ | @ @ |2m @ | @ | @ 10mm @ | @ | @ |[2m| @ @ | @
15mm| @ | @ | @ |357mn [ ] 15mm| @ | @ | @ |35m [ ]
20mm @ | @ | @ |k @ | @ | @ 20mm @ | @ | @ |kim @ | @ | @
Standard: 830(25mm| @ | @ | @ |42mn [ ] Standard: 832(25mm| @ | @ | @ |4Amn [ ]
Sponge: 838130mm| @ | @ | @ |4dm @ | @ | @ Sponge: 840(30mm @ | @ | @ |4dm| @ | @ | @
Bellows : 846|35mmd [ ] 5d0mm Bellows : 848|35mm [ ] Simm
Oval :854|40mm| @ @ |50m @ Oval :856(40mm| @ @ 5am @
Skidproof: 862(50mm| @ | @ | @ |53m| @ Skidproof: 864(50mm| @ | @ | @ |53m| @
Flat :870 Bxtmm Flat :872 Bxt0mm
Markfree: 878 6:20mm Mark-free: 880 6:20mm
[t (60|
8+20mm 8x20mm
B:30mm Bx30mm

<
o2

Q
P
Oc
<




& Vacuum Pad Series
Vacuum Pad Long Stroke Series

Spring type with Cover / Top port / Push-in fitting /
Standard Pad

(=]
<
a

VACUUM

825

N
Long Stoke
Seres

vPC

®VPC4-IR(] ®VPC6.8-0RC]  |@VPC10- 00RO @®VPC15~50-CIR(A)]
o0 | | -
||
‘ maxa| | ‘ 141
24 2% ]I e
o o I Np
e i H e 2-H17 2:H17
L [l m o ;
a3 2H14 | | 3 2-H14 | \\H l \\H e
o ‘ M12X1|m ; \I M12X1 m 1 216 WETT
g I &l INMI%3E N 7e
9 w% 18 q m[i } 13 e Hi2 H12
4H8 4 H8
- ¢J - o L1
:r oo ~ed Lod | ed Unit © mm
VPC4-10RTE4) 57.2 27 175 10 | 06~17
VPC4-15RE4) 4 68.2 4 32 235 16 | 04~17
VPCA20RE4) 78.2 37 285 20 | 03~18
\VPC5-10RE4) 56.7 265 175 10 | 08~27
VPCB-15RE4 6 67.7 7 315 235 15 | 07~30
VPC6-20RE4) 79.7 365 285 20 | 09~34 R;fseééo
VPC8-10RE4) 56.2 25 175 10 | 08~27 ehere
VPCB-15RE4) 8 66.2 55 30 235 15 | 0.7~30
VPCB-20RE4J 76.2 35 285 20 | 09~34
VPC10-10RE6) 646 305 20 10 | 20~62
10 746 8 365 25 15 | 20~59
VPC10-20RE6 906 425 34 20 | 11~48
VPC15-10R(AE6) 65.6(66.6) 315@325)| 20 10 | 20~62
VWCIETSRAER] 15 |75.6(766)] 9(10) |365(375)| 25 15 | 20~569
VPC15-20R(A)E6) 91.6(92.6) 435(445)| 34 20 | 11~48 | Now
VPC20-10R(A)E6) 68.1(69.1) 34(35) 20 10 |33~10.0] preparing
VPCOSRAEE)| 20 [781(79.1)| 1011y | 39(40) 25 15 |33~104
VPC20-20R(A)E6) 94.1(95.1) 46(47) 34 20 | 2.0~87 R;;fééo
VPC25-10R(AE6) 69.1(70.1) 35(36) 20 10 |33~100 ehere
VPCHISRAEE)| 25 [79.1(80.0| 11(12) | 40(an) 25 15 |33~104
VPC25-20R(A)56) 95.1(96.1) 47(48) 34 20 | 20~87
VPC30-10R(A)E6) 69.1(72.1) 35(38) 20 10 |33~100
VPCBRAEE)| 30 [79.1(82.1)| 11(14) | 40(43) 25 15 |33~104
VPC30-20R(A)56) 95.1(98.1) 47(50) 34 20 | 20~87
VPCA0-10R(AE6) 72.1(75.6) 38(415) | 20 10 |33~100
VPCAOBRAER)| 40 [82.1(856)| 14(17.5) | 43(465) | 25 15 |33~104
VPCA0-20R(AE6) 98.1(101.6) 50(535) | 34 20 | 2.0~87 Rpe‘fseééo
VPC50-10R(A)E6) 73.1(76.1) 39(42) 20 10 |33~100 ehere
VPCSOBRAEE)| 50 [83.1(86.1)| 15(18) | 44(47) 25 15 |33~10.4
VPC50-20R(A)6) 99.1(102.1) 51(54) 34 20 | 20~87

% . Value in () is the dimension of a deep type pad.

% . (5] : Replaced with Pad rubber material code. Refer to page 820 for details.

% . Bulkhead nut tightening torque

= Pad dia. : 84~@8mm » 8 ~ 10N-m.

= Pad dia. : 810 ~050mm » 4.5~6N-m



PISCO.

http://en.pisSc0.CO.jp

Spring type without Cover / Top port / Push-in fitting / GAD)
-' Standard Pad

ROHS compliant

26
28
1k
| ~—
= M14x1
o<
2-Hex.17
@ E e
Sjoff TE
&
<
zfﬁi‘l} 28
Oc
Lﬂ—dJ <
Unit - mm
VPC20-20R(4Y56.C 71.2(72.2) 48.1(49.1) 20 15~49
VPC20-30R(A)Z6JC - 842(852) | 0\ | 61.1C621) 30 1.1~4.8
VPC20-40R(4YZ6JC 97.2(98.2) 74.1(75.1) 40 1.0~45
VPC20-50R(4)56.C 1102(111.2) 87.1(88.1) 50 09~45
VPC25-20R(A/Z6JC 72.2(73.2) 49.1(50.1) 20 15~4.9 o
"VPC25-30R(AIEELC | — efer to
VPC25SOR(AIEIC - 852(862) | |, 1, [ 621063 30 1.1~48 SSCO
VPC25-40R(AY56.C 98.2(99.2) 75.1(76.1) 40 1.0~45 website
VPC25-50R(A/Z6JC 1112(112.2) 88.1(89.1) 50 09~45
VPC30-20R(A)E6.C 72.2(75.2) 49.1(52.1) 20 15~49
VPC30-30R(A/Z6JC %0 852(882) |\, 1, 6216851 30 1.1~428 Now
VPC30-40R(4)Z6JC 98.2(101.2) 75.1(78.1) 40 1.0~4.5 | preparing
VPC30-50R(A)E6.C 11.2(114.2) 88.1(91.1) 50 09~45
VPCA0-20R(AY56.C 75.2(78.7) 52.1(55.6) 20 15~4.9
- 2(91.7 1(68. A~
VPCAOSOR(ATIC 20 8820017 | | \n g | 651(686) 30 1.1~4.8
VPC40-40R(A)Z6JC 101.2(104.7) 78.1(81.6) 40 1.0~45
VPC40-50R(A)6JC 114.2(117.2) 91.1(94.6) 50 09~45 R;‘fseééo
VPC50-20R(4)Z6JC 76.2(79.2) 53.1(56.1) 20 15~4.9 website
VPC50-30R(AY56.C o 892(922) | ;o | 6610691 30 1.1~48
VPC50-40R(AY56.C 102.2(105.2) 79.1(82.1) 40 1.0~45
VPC50-50R(4)Z6.C 115.2(118.2) 92.1(95.1) 50 09~45

% . Value in () is the dimension of a deep type pad.
3 : Replaced with Pad rubber material code. Refer to page 820 for details.
% . Bulkhead nut tightening torque : 4.5~6N-m

CAD) CAD data is available at PISCO website.




& Vacuum Pad Series
Vacuum Pad Long Stroke Series

827

N
Long Stoke

Seres

| VPD|
ROHS compliant

Spring type with Cover / Side port / Push-in fitting /
Standard Pad

®VPD4-[IR(] @®VPDB.8-[IR(] @®VPD10-0RC] ®VPD15~50-IR(A)]
ot MM
) | e
| b o |
a <! ‘ 57 |
3 17 A 2-H17
M12X1 M12X1 L
pracarl il oSl Ny
17 216 A " 216
B Y @ §> ‘ w ? g’ ‘ 11 7LIJ
m gE 213 " o g 213 u o |2 1.7 N . |
9@ ] lj q° = Hi2 | == q H12 4 = %
3 53 _ 20.1)®
S 5 & g o) e =
H10/ o Hi2/oa T T o] L od |
Unit © mm
VPD4-10RTE4) 566 35 175 21 10 |06~17
VPD4-15RE4) 4 66.6 4 40 2356 26 16 |04~17
VPD4-20RE4) 766 45 385 31 20 |03~18
VPD6-10RE4) 56.1 365 | 175 21 10 |08~27
VPD6-15RE4) 6 67.1 9 405 | 235 26 15 |0.7~30
VPD6-20RE4) 77.1 455 | 285 31 20 |09~34 F;e‘;eééo
VPDB-10RE4) 546 34 175 21 10 |08~27 e
VPDB-15RE4J 8 666 55 39 235 26 15 |0.7~30
VPD8-20RE4J 756 44 285 31 20 |09~34
VPD10-10RE 63.1 40 20 25 10 |20~62
VPDI-5RE6) | 10 73.1 8 45 25 30 15 |2.0~59
VPD10-20RE6 89.1 52 34 37 20 |1.1~48
VPD15-10R(A)E6 64.1(65.1) M@ | 20 25 10 |20~52
VDIsRASE)| 15 [741(75.0| ocioy | 46w | 25 30 15 |2.0~59
VPDI5-20R(A)56) 90.1(91.D) 53(4) | 34 37 20 |11~48] Now
VPD20-10R(A)E6 66.1(67.1) 4344) | 20 245 10 |33~10.0|preparing
VPDX-sRAEE)| 20 [76.177.0)| 10011) | 4849) | 25 295 15 |3.3~104
VPD20-20R(A)E6) 92.1(93.1) 55(56) | 34 365 20 |20~87 iﬁ;eééo
VPD25-10R(A)E6 67.1(68.1) 4445) | 20 245 10 |33~100 e
VDBsRASE)| 25 [77.1(781)| 11012) | 49660) | 25 295 15 |3.3~10.4
VPD25-20R(A)E6J 93.1(94.1) 5657) | 34 365 20 |2.0~87
VPD30-10R(A)E6 67.1(70.1) 4447 | 20 245 10 [33~100
VPDR-sRAEE)| 30 [77.10.0| 11(14) | 4962) | 25 295 15 |3.3~104
VPD30-20R(A)E6 93.1(96.1) 56(59) | 34 365 20 |2.0~87
VPDA0-10R(A)E6 720.1(736) 47(505)| 20 245 10 |33~10.0
VPDASRAER)| 40 [80.1(836)| 14(17.5) [62(865) | 25 295 15 |3.3~10.4
VPD4G-20R(AE6) 96.1(99.6) 59(62.5)| 34 365 20 |20~87 Re‘;eééo
VPD50-10R(A)E6 71.1(74.1) 4861 | 20 245 10 [33~100 Wpebs.‘te_
VPDSOBRAER)| 50 [81.1(84.1)| 15(18) | 53(86) | 25 295 156 |3.3~10.4
VPD50-20R(A)E6 97.1(100.) 6063) | 34 365 20 |2.0~87

% . Value in ( ) is the dimension of a deep type pad.
% . [5] : Replaced with Pad rubber material code. Refer to page 820 for details.
% . Bulkhead nut tightening torque

= Pad dia. : 84~08mm » 8 ~10N-m,

= Pad dia. : 810 ~050mm » 4.5~6N-m



PISCO.

http://en.pisSc0.CO.jp

Spring type without Cover / Side port / Push-in fitting / [CAD)
-' Standard Pad 2

(Stroke)

O gg

Hex.14, od Unit : mm D%
VPD20-20R(AYE6.C 71.2(72.7) 59.6(60.6)| 41 20 15~4.9
VPDX- 30R(A)§6JC o [BA7EED] o [726036)] 54 30 11~48
VPD20-40R(AE6.C 97.7(98.7) 85.6(86.6)| 67 40 1.0~45
VPD20-50R(AE6.C 110.2(11.7) 98.6(99.6)] 80 50 | 09~45
VPD25-20R(AE6.C 72.7(73.7) 60.6(61.6)| 41 20 15~4.9
VOSURATEC) (857667 | . 736046 54 30 | 11~48 R;fsecféo
VPD25-40R(AE6.C 98.7(99.7) 86.6(87.6)| 67 40 10~45 website.
VPD25-50R(AE6.C 11.9(112.7) 996(1006)] 80 50 | 09~45
VPD30-20R(AYE6.C 72.7(75.7) 60.6(63.6)| 41 20 15~4.9
VPDALRNERC) o [857@88D| | . [736766) 54 30 1.1~48 [ Now
VPD30-4OR(AYE6.C 98.2(101.7) 86.6(89.6)] 67 40 1.0~45 | preparing
VPD3O-50R(AE6.C 11.9(114.7) 996(1026)] 80 50 | 09~45
VPD4O-20R(AE6.C 75.7(79.2) 63.6(67.1)| 41 20 15~4.9
VDORRAERIC| o [88702D)) |\ o o |766@0.D] 54 30 11~48
VPDAO-4OR(AYESIC 101.7(105.2) 7 [89.6(93.1)| 67 40 1.0~45
VPD4O-50R(A)E6.C 1147(1182) 1026(106.1)| 80 50 0.9~45 Rpe‘;ecféo
VPD50-20R(AE6.C 76.7(79.7) 64.6(67.6)| 41 20 15~4.9 websrte.
VOSORRAERIC| o (88702 o [776@08)] 54 30 11~48
VPDS0-40R(AE6.C 102.2105.7) 90.6(936)| 67 40 10~45
VPD50-50R(AE6.C 115.7(1187) 1036(1066)] 80 50 | 09~45

% . Value in () is the dimension of a deep type pad.
% . (5] : Replaced with Pad rubber material code. Refer to page 820 for details.
% . Bulkhead nut tightening torque : 4.5~6N-m

CAD) CAD data is available at PISCO website.




& Vacuum Pad Series
Vacuum Pad Long Stroke Series

VACUUM
PAD

829

N
Long Stoke
Seres

VPC

Spring type with Cover / Top port / Barb fitting /

Standard Pad

®VPC4-IRC] @®VPC6.8-CRC] ®VPC10-TR0 @®VPC15~50-CIR(A)]]
06 X g4 06x04
04 X02.5 204 X02.5
(Tube O.D. x I.D)) (Tube 0.0.x 1D |
~ ~
o M12X1 ol M12X1 ‘ ““l ;
BN 2-H14 O 2.H14 | \
w S m S [ [le16 Rl
I S 13 ol o) : S “lE |
- B13Hs b~ H8 H12
" edll, od Led] L ed ] Unit - mm
VPC4-10RE4B 54.6 27 175 10 | 06~17
VPC4-15RE48 4 65.6 4 32 235 16 | 04~17
VPC4-20RE48 7656 37 285 20 | 03~18
VPC6-10REHB 54.1 265 175 10 | 08~27
VPC6-15RE4B 6 65.1 7 315 235 15 | 0.7~30
VPC6-20RE48 75.1 365 285 20 | 09~34 R;fseééo
VPCE-10RE4B 526 25 175 10 | 08~27 ehere
VPCB-15RE48 8 636 55 30 235 15 | 0.7~30
VPC8-20R548 736 35 285 20 | 09~34
VPC10-10RE6B 60.6 305 20 10 | 20~62
VPC10-15RE6B 10 706 8 355 25 15 | 20~59
VPC10-20RE6B 86.6 425 34 20 | 1.1~48
VRC15-10R(A)568 61.6(62.6) 315(325)] 20 10 | 20~62
VCISIBRMER| 15 |71.6(726) 9(10) [365375) 25 15 | 20~59
VPC15-20R(A)E6B 87.6(88.6) 435(445) 34 20 | 11~48] Now
VPC20-10R(A)E6B 64.1(65.1) 34(35) 20 10 |33~10.0] preparing
VPCOSRMEEB| 20 [74.1(75.1)| 10011) | 39(40) 25 15 |33~104
VPC20-20R(A)E6B 90.191.1) 46(47) 34 20 | 2.0~87 R;;fééo
VPC25-10R(A)568 65.1(66.1) 35(36) 20 10 |33~100 ehere
VPCSISRMERB| 25 |76.4(76.0)| 11(12) | 40(an) 25 15 |33~104
VPC25-20R(A)E6B 91.1(92.1) 47(48) 34 20 | 20~87
VPC30-10R(A)E6B 65.1(68.1) 35(38) 20 10 |33~100
VPCR-SRAEEB| 30 |75.1(78.1)| 11(14) | 40(43) 25 15 |33~104
VPC30-20R(A)E6B 91.1(94.1) 47(50) 34 20 | 20~87
VPCA0-10R(A)Z6B 68.1(71.6) 38(415) | 20 10 |33~100
VPCHISREEB| 40 [78.1(81.6)| 14(17.5) | 43(465) | 25 15 |33~104
VPCA0-20R(A)E6B 94.1(97.6) 50(535) | 34 20 | 2.0~87 Rpe‘fseééo
VPC50-10R(A)E6B 69.1(72.1) 39(42) 20 10 |33~100 ehere
VPCSOSREEB| 5O |79.1(82.1)| 15(18) | 44(47) 25 15 |33~10.4
VPC50-20R(A)E6B 95.1(98.1) 51(54) 34 20 | 20~87

% . Value in () is the dimension of a deep type pad.
% . (5] : Replaced with Pad rubber material code. Refer to page 820 for details.
% . Bulkhead nut tightening torque

= Pad dia. : 84 ~@8mm » 8 ~ 10N-m.

= Pad dia. : 810 ~050mm » 4.5~6N-m



PISCO.

http://en.pisSc0.CO.jp

¢

[2T=)) Spring type without Cover / Top port / Barb fitting /  [CAD
Standard Pad

06 Xo4
(Tube O.D. x 1.D.)

L N~
- ! M14X1
2-Hex.17
om

L2
S
(Stroke)

0 O

<
o 3
== o&
LAJ Unit - mm =
VPC20-20R(AE6BC 67.2(68.2) 48.1(49.1) | 20 15~4.9
VPCARRASERC| 802012 | o [61162D | 30 11~48
VPC20-40R(A)E6BC 93.2(94.2) 240751 | 40 10~45
VPC20-50R(AE6RC 106.2(107.2) 87.1(881) | 50 09~45
VPC25-20R(A)E6BC0 68.2(69.2) 491(501) | 20 15~49
VPCRAEERC| 812822) | |, |621G631) 30 11~48 F;e‘fseééo
VPC25-40R(AE6BC 94.2(95.2) 76.1(76.1) | 40 10~45 wetee
VPC25-50R(A)E6B0 107.2(108.2) 88.1(89.) | 50 09~45
VPC30-20R(AE6BC 68.2(71.2) 49.1(52.) | 20 15~49
VCLRASERC| o [B12842) | o [62166D | 30 11~48 | Now
VPC30-40R(A)E6BC 94.2(972) 751(781) | 40 10~45 | preparing
VPC30-50R(A)E6RC 107.2(110.2) 88.1(91.1) | 50 09~45
VPCAO-20R(AE6BC 71.2(74.7) 52.1(56.6) | 20 16~49
VCRURNERC| 0 [84267D | o [661(686) | 30 11~48
VPCA0-40R(AE6BC 97.2(100.7) 78.1(81.6) | 40 10~45
VPCA0-50R(A)B6BC 1102(113.7) 91.1(94.6) 50 09~45 Rpe‘fseééo
VPCS0-20R(A)E6BC 72.2(752) 53.1(56.1) | 20 16~49 webote,
WPCRHURNTERC| [ 85282 | .o [66169.D) | 30 11~48
VPCH0-40R(A)E6BC 98.2(101.2) 79.1(82.) | 40 10~45
VPCE0-50R(A)E6BC 111.20114.2) 92.1(95.1) | 50 09~45

% . Value in () is the dimension of a deep type pad.
: Replaced with Pad rubber material code. Refer to page 820 for details.
% . Bulkhead nut tightening torque : 4.5~6N-m

CAD) CAD data is available at PISCO website.




& Vacuum Pad Series
Vacuum Pad Long Stroke Series

(YZZ=) Spring type with Cover / Side port / Barb fitting /
m Standard Pad

®VPD4-[IR(] ®VPD6.8-[R(] ®\VPD10-[IRJ @®VPD15~50-[IR(A)]
——mm ™M
M14X 1 | | M14X1
|
o ‘ I
v & 2-H17
Y 2-H17
:
J T b q | .
| 5 4]
AT | ]I
§2 3 C 7 . Y |
g& H10 7 oo 7 otz H2p = R NE)
15 > J =
——H]151 ‘5% =] §J 161 ‘5% | %ﬂgé :f —peds
Todl, 3S| M2 d 38 oa) 93 —od ] |
[0 @ =1
Unit : mm
VPD4-10RE4B 55.6 35 175 21 10 |06~1.7
VPD4-15RE1B 4 66.6 4 40 235 26 15 |04~17
VPD4-20REMB 76.6 45 285 31 20 |03~18
VPD6-10RE4B 56.1 355 175 21 10 |08~27
VPD6-15A51B 6 67.1 7 405 235 26 15 [0.7~30
VPDE-20R4B 771 455 285 31 20 |09~34 Re‘fsecféo
VPD8-10RE4B 54.6 34 175 21 10 |08~27 wpebsne.
VPD8-15A54B 8 65.6 55 39 235 26 15 0.7~30
VPD8-20REMB 75.6 44 285 31 20 |09~34
VPD10-10RE6B 63.1 40 20 25 10 [20~52
VPD10-15RE6B 10 73.1 8 45 25 30 15 |2.0~59
VPD10-20RE6B 89.1 52 34 37 20 [1.1~48
VPD15-10R(A)6B 64.1(65.1) 41(42) 20 25 10 [20~52
VPDI5-5RAJEEB| 15 [74.1(75.1)| 910) | 46(47) 25 30 15 |2.0~59
VPD15-20R(A)5l6B 90.1(91.1) 53(54) 34 37 20 [1.1~48| Now
VPD20-10R(A)E6B 66.1(67.1) 43(44) 20 245 10 [3.3~10.0|preparing
VPD2-SRNVEBB| 20 [76.1(772.1)| 10(11) | 48(49) 25 295 15 [33~104
VPD20-20R(A)56B 92.1(93.1) 55(56) 34 365 20 |2.0~87 R;fsecféo
VPD25-10R(A)6B 67.1(68.1) 44(45) 20 245 10 [33~100 website.
VPD25-5RAJEEB| 25 [77.1(78.1)| 11(12) | 49(50) 25 295 15 |33~104
VPD25-20R(A)El6B 93.1(94.1) 56(57) 34 36.5 20 [2.0~87
VPD30-10R(A)E6B 67.1(70.1) 44(47) 20 245 10 [33~100
VPDX-5RAJEEB| 30 [772.1(80.1)| 11(14) | 49(52) 25 295 15 [33~104
VPD30-20R(A)6B 93.1(96.1) 56(59) 34 36.5 20 [2.0~87
——  PD40-10RAEEB 70.1(73.6) 47(505)| 20 245 10 [33~100
beSse  vpDQ-5R(AEEB] 40 [80.1(83.6)] 14(17.5)[52(555)| 25 295 15 |33~104
VPD40-20R(A)El6B 96.1(99.6) 59(62.5)| 34 365 20 |2.0~87 R;fseééo
VPDS0-10R(A)E6B 71.1(74.1) 48(51) 20 245 10 [33~100 weborte.
VPD50-5RAJEEB| 50 [81.1(84.1)| 15(18) | 53(56) 25 295 15 [33~104
VPD50-20R(A)6B 97.1(100.1) 60(63) 34 36.5 20 [2.0~87

% . Value in () is the dimension of a deep type pad.
% . (6] : Replaced with Pad rubber material code. Refer to page 820 for details.
% . Bulkhead nut tightening torque
= Pad dia. : 94~@8mm » 8~ 10N'‘m. = Pad dia. : 810 ~050mm » 4.5~6N-m



PISCO.

http://en.pisSc0.CO.jp

\4zl=]) Spring type without Cover / Side port / Barb fitting /  [CAD
Standard Pad

ROHS compliant
M14X1
1
of ST T 2Hex 17

E

mwm‘,‘
B
L2
L1 S
(Stroke)
% 1\
LRARAN)
N2 L
26X 04| <
(Tube O.D. x I.D.)

<
25
Hex.14/| od Ug
Unit : mm
VPD20-20R(AJ56BC 21.9(72.7) 59.6(60.6)| 41 20 | 156~49
VPDLORAERC| o [847@5D| | [126036)] 54 30 | 11~48
VPD20-40R(A/T6BC 97.7(98.7) 85.6(86.6)| 67 40 | 10~45
VPD20-50R(A)56BC 1020111.7) 98.6(99.6)] 80 50 | 09~45
VPD25-20R(AJ56BC 72.7(73.7) 60.6(61.6)| 41 20 | 16~49
VPOSIRAGERC| . (857867 . [736(46)] 54 30 | 1.1~48 R;fsecféo
VPD25-40R(AYT68C 98.7(99.7) 86.6(87.6)| 67 40 | 1.0~45 ebere
VPD25-50R(AJ56BC 1.20012.7) 99.6(100.6) 80 50 | 09~45
VPD30-20R(A/T6BC 72.:7(75.7) 60.6(63.6)| 41 20 | 156~49
VOOURNERS| o [857@8T)| . . [736766)] 54 30 [11~48] Now
VPD30-40R(A/T6EC 98.7(101.7) 86.6(896)| 67 40 | 1.0~45 | preparing
VPD30S0R(A/TBC 11.20147) 90.6(1026) 80 50 | 09~45
VPDAO-20R(AYZ68C 75.7(79.2) 63.6(67.1)| 41 20 | 156~49
VPDARASEEC| (88722 |\ o [766@80D| 54 30 | 11~48
VPD40-40R(A)56BC 101.7(1062) 89.6(93.1)| 67 40 | 1.0~45
VPDA0SOR(AYEI6BC 114721182) 1026(1061)| 80 50 | 0.9~45 R;;eééo
VPDS0-20R(A)56BC 26.7(79.7) 64.6(67.6)| 41 20 | 156~49 wehere
VPOSKORAERC| o [897C2D| | o 776806 54 30 | 11~48
VPDS0-40R(AJZ68C 102.7(105.7) 90.6(936)| 67 40 | 1.0~45
VPDS0-50R(A)56BC 115.2118.7) 1036(1066)| 80 50 | 09~45

% . Value in ( ) is the dimension of a deep type pad.
% . [5] : Replaced with Pad rubber material code. Refer to page 820 for details.
3 . Bulkhead nut tightening torque : 4.5~6N-m

CAD) CAD data is available at PISCO website.




II Vacuum Pad Series

. Vacuum Pad Long Stroke Series

1 ,Sprlng type with Cover / Top port / Push-in fitting /

Sponge Pad

@6
2

11.7

‘ \ M14X 1

9 ot |

N8 2-Hex.17
‘ \\H
[ Tlete
2 |
L]
Hex.12

3. 3 ~ 10

10 ’7’76 9.5 385 25 15 33~10.4

VPC10-208(8)6J 93.6 455 34 20 20~87
VPC15-10S(6)6J 67.6 33.5 20 10 3.3~10.0
VPC15-15S(5)6J 15 77.6 Ol5 38.6 25 156 33~10.4
SRX)  VPC15-20S(56J 93.6 455 34 20 20~87
VPC20-105(6)6J 73.6 39.5 20 10 3.3~10.0
VPC20-155(5)6 20 83.6 155 445 25 15 33~10.4
VPC20-2055)6J 99.6 51.5 34 20 20~87
VPC25-105(6)6J 73.6 39.5 20 10 3.3~10.0
VPC25-155(5)6J 25 83.6 185 445 25 156 33~10.4
VPC25-205(66J 99.6 BiH 34 20 20~87
VPC30-108(5)6J 73.6 39.5 20 10 3.3~10.0
VPC30-155(5)6 30 83.6 155 445 25 15 33~10.4
VPC30-20S(56J 99.6 51.5 34 20 20~87
VPC35-108(6)6 86.1 52 20 10 3.3~10.0
VPC35-155(5)6J 85 96.1 28 57 25 156 33~10.4
VPC35-20S(66J 1121 64 34 20 20~87
VPC50-108(6)6 86.1 52 20 10 3.3~10.0
VPC50-155(5)6 50 96.1 28 57 25 15 33~10.4
VPC50-20S(66J 1121 64 34 20 20~87

Now
preparing

Unit : mm

Model PadOD Stroke Spnngforce Weight
code (9) flle name

Refer to
PISCO
website.

Refer to
PISCO
website.

% . [5] : Replaced with Pad rubber material code. Refer to page 820 for details.

3 . Bulkhead nut tightening torque : 4.5~6N-m

N
Long Stoke
Seres

CAD] CAD data is available at PISCO website.

20 & 30



PISCO.

http://en.pisSc0.CO.jp

¢

.1=)) Spring type without Cover / Top port / Push-in fitting /
Sponge Pad

ROHS compliant

gg
T E]
v e M14X1
| <
2-Hex.17
o E%:
N f Tt
<
=il 28
LﬂJ o Ug
Unit - mm
VPC10-20356/C 20.6 475 20 16~49
VPCI00SEBC| 836 o5 605 30 11~48
VPC10-40356.C 9.6 735 40 10~45
VPC10-50356.C 109.6 865 50 09~45
VPC15-20856/C 706 475 20 16~49
VPCT-30SBRC| 836 o5 605 30 11~48 F;j;eééo
VPC15-40556/C 9.6 : 735 40 10~45 wehere
VPC15-50856/C 100.6 865 50 09~45
VPC20-20556/C 76.6 535 20 16~49
VPC200SEBC| 89.6 o6 66.5 30 11~48
VPC20-40556.C 102.6 795 40 10~45
VPC20-50556/C 1156 925 50 09~45
VPC25-20556/C 76.6 535 20 16~49
VPO2SWSTRC| 89.6 e 66.5 30 11~48 Now
VPC25-40556/C 102.6 795 40 10~45 | preparing
VPG25-505E6.C 116.6 25 50 09~45 Rpe‘fseééo
VPC30-2056/C 76.6 535 20 16~49 websre
VPCRO30SEC| 89.6 o5 66.5 30 11~48
VPC30-40556/C 102.6 795 40 10~45
VPC30-50856.C 1156 925 50 09~45
VPC35-20556/C 89.2 66.1 20 16~49
VPCSHRSEBC| 1022 28 79.1 30 11~48
VPC35-40856/C 1152 92.1 40 10~45
VPC35-50356.C 1282 1051 50 09~45 Ff‘fseééo
VPC50-205E6/C 89.2 66.1 20 16~49 wehere
VPCS00SERC| 1022 28 79.1 30 11~48
VPC50-40556/C 152 92.1 40 10~45
VPC50-50556/C 1282 106.1 50 09~45

% . (5] : Replaced with Pad rubber material code. Refer to page 820 for details.
% . Bulkhead nut tightening torque : 4.5~6N-m

CAD) CAD data is available at PISCO website.




II Vacuum Pad Series

. Vacuum Pad Long Stroke Series
Spring type with Cover / Side port / Push-in fitting /

835

N
Long Stoke

Seres

D

Sponge Pad
v
\ M14x1
|
3 |
g
«Q 2-Hex.17
I ) Hh
216

(Stroke)

Stroke |Spring force| Weight

65.6 20 245 3.3~10.0

10 75.6 95 475 25 29.5 15 3.3~104

VPD10-20S5/6J 91.6 54.5 34 36.5 20 2.0~87
VPD15-10S(5l6J 65.6 425 20 245 10 3.3~10.0
VPD15-158(5)6J 15 75.6 95 47.5 25 29.5 15 3.3~10.4
VPD15-203(5)6J 91.6 54.5 34 36.5 20 2.0~87
VPD20-105(5)6J 71.6 48.5 20 245 10 3.3~10.0
VPD20-1558l6J 20 81.6 1565 53.5 25 29.5 15 3.3~10.4
VPD20-2055)6J 97.6 60.5 34 36.5 20 2.0~8.7
VPD25-105(5)6J 71.6 485 20 24.5 10 3.3~10.0
VPD25-155(8/6J 25 81.6 185 53.6 25 29.5 15 3.3~10.4
VPD25-2055)6J 97.6 60.5 34 36.5 20 2.0~87
VPD30-10S(5)6 71.6 485 20 245 10 3.3~10.0
VPD30-155(8l6J 30 81.6 155 53.5 25 29.5 15 3.3~10.4
VPD30-2055)6J 97.6 60.5 34 36.5 20 2.0~87
VPD35-105(5)6 84.1 61 20 24.5 10 3.3~10.0
VPD35-155(8l6J 36 94.1 28 66 25 29.5 15 3.3~10.4
VPD35-2056)6J 110.1 73 34 36.5 20 20~87
VPD50-105(5)6 84.1 61 20 245 10 3.3~10.0
VPD50-15S5)6 50 94.1 28 66 25 29.5 15 3.3~10.4
VPD50-2055)6J 110.1 73 34 36.5 20 2.0~87

Now
preparing

Unit . mm

Refer to
PISCO
website.

Refer to
PISCO
website.

% . [5] : Replaced with Pad rubber material code. Refer to page 820 for details.
% . Bulkhead nut tightening torque : 4.5~6N-m

CAD] CAD data is available at PISCO website.

20 & 30



PISCO.

http://en.pisSc0.CO.jp

\Zz1=)) Spring type without Cover / Side port / Push-in fitting /
Sponge Pad

ROHS compliant

&5,
E'

<
25
H Unit : mm D%
VPD10-20856/C 211 59 41 20 | 15~49
VPDIOWSERC| 84.1 o5 72 54 30 | 1.1~48
VPD1040556/C 97.1 85 67 40 | 10~45
VPD10-50SE6/C 110.1 %8 80 50 | 09~45
VPD15-20856JC 711 59 41 20 | 16~49
VPDISRSERC| 84.1 o5 72 54 30 | 11~48 R;fsecréo
VPD1540SE6JC 97.1 : 85 67 40 | 1.0~45 webete,
VPD15-50856JC 110.1 98 80 50 | 09~45
VPD20-20556.C 771 65 41 20 | 15~49
VPD20STRIC| 90.1 - 78 54 30 | 11~48
VPD20-40556JC 103.1 o1 67 40 | 10~45
VPD20-50556.C 116.1 104 80 50 | 09~45
VPD25-205E6JC 771 65 41 20 | 15~49
VPD2SSTRC| 90.1 oo 78 54 30 [1.1~48] Now
VPD25-4085/6JC 103.1 91 67 40 1.0~4.5 | preparing
VPD25-50856/C 116.1 104 80 50 | 09~45 Rp‘j;eééo
VPD3020856.0 771 65 41 20 | 156~49 wehere
VPDR0SERLC 90.1 o6 78 54 30 | 11~48
VPD30-405E6.C 103.1 o1 67 40 | 10~45
VPD30-50356JC 116.1 104 80 50 | 09~45
VPD35-20556JC 89.7 776 41 20 | 15~49
VPDS5-STRLC| 102.7 o8 906 54 30 | 1.1~48
VPD35-4056JC 116.7 103.6 67 40 | 10~45
VPD35-5085/6JC 1287 116.6 80 50 09~45 R;;eééo
VPD50-20556JC 89.7 776 41 20 | 156~49 webere
VPDSOGOSEGLC| 102.7 s 906 54 30 | 1.1~48
VPD50-4056.C 1152 103.6 67 20 | 10~45
VPD50-50556JC 1287 1166 80 50 | 09~45

% . (5] : Replaced with Pad rubber material code. Refer to page 820 for details.
3. Bulkhead nut tightening torque : 4.5~6N-m

CAD) CAD data is available at PISCO website.




II Vacuum Pad Series

. Vacuum Pad Long Stroke Series

1 ,Sprlng type with Cover / Top port / Barb fitting /

Sponge Pad
[RoHS compliant]
RoHS complian 26X 04
(Tube O.D. x 1.D.)
N~
|
‘ N M14X1
(s
| ﬁ,.v ;
A 2-HEX.17
|
|
RIEENEE
B T
3% | !
HEX.12

s

3.3~10.0
10 ’736 9.5 385 25 15 33~10.4
89.6 455 34 20 20~87
63.6 33.5 20 10 3.3~10.0
15 73.6 )5 38.6 25 15 3.3~10.4
fsieyd VPC15-20S(56B 89.6 455 34 20 20~87
VPC20-1055)6B 69.6 39.5 20 10 3.3~10.0
VPC20-1585)6B 20 79.6 155 445 25 15 33~10.4
VPC20-20S[56B 95.6 51.5 34 20 20~87
VPC25-105)6B 69.6 39.5 20 10 3.3~10.0
VPC25-1555)6B 25 79.6 185 445 25 15 33~104
VPC25-20[56B 95.6 blEs 34 20 20~87
VPC30-1055)6B 69.6 39.5 20 10 3.3~10.0
VPC30-1585)6B 30 79.6 155 445 25 15 33~104
VPC30-20S(56B 95.6 51.5 34 20 20~87
VPC35-1055)6B 82.1 52 20 10 3.3~10.0
VPC35-1 35 92.1 28 57 25 15 33~104
VPC35-20556B 108.1 64 34 20 20~87
VPC50-10S(5/6B 82.1 52 20 10 3.3~10.0
VPC50-1555)6B 50 92.1 28 57 25 15 33~104
VPC50-20S(56B 108.1 64 34 20 20~87

Now
preparing

Unit © mm

Model Stroke Spring force| Weight
code (N) (9) flle name

Refer to
PISCO
website.

Refer to
PISCO
website.

% . [5] : Replaced with Pad rubber material code. Refer to page 820 for details.

3 . Bulkhead nut tightening torque : 4.5~6N-m

N
Long Stoke
Seres

CAD] CAD data is available at PISCO website.

20 & 30



PISCO.

http://en.pisSc0.CO.jp

=T=]) Spring type without Cover / Top port / Barb fitting / CAD

ponge Pad e

¢
(X%

06X 04
(Tube O.D.x D) |
|
é} .
- m
<
| 55
Lﬂj Unit © mm g
VPC10-203E6BC 66.6 475 20 15~49
VPC10-30S56BC 0 79.6 05 60.5 30 11~48
VPC10-40S56BC 926 ' 735 40 10~45
VPC10-505E6BC 105.6 86,5 50 09~45
VPC15-208E6BC 66.6 475 20 15~4.9
VPOI5SEEBC| 79.6 o5 605 30 11~48 R;;eééo
VPC15-405)6BC 926 ' 735 40 1.0~45 weborte.
VPC15-5055)6BC 105.6 86.5 50 09~45
VPC20-208(56BC 726 535 20 15~4.9
VPC2030EeBC| 85.6 . 66.5 30 11~48
VPC20-40S56BC 986 ' 795 40 10~45
VPC20-50SF6BC 116 925 50 09~45
VPC25-208E6BC 726 535 20 15~49
VPC250SERBC| 85.6 155 66.5 30 1.1~48 Now
VPC25-40SE6BC 986 : 795 40 1.0~45 | preparing
VPC25-5095)6BC 1116 925 50 09~45 Refer 1o
VPC30-20856BC 726 535 20 15~4.9 WP e‘ES\?e
VPCAD30SEEBC| 85.6 155 66.5 30 11~48
VPC30-405F6BC 986 : 795 40 1.0~45
VPC30-50SE6BC 1116 925 50 09~45
VPC35-208(56BC 85.2 66.1 20 15~49
VPCS5-30SEERC| 982 - 79.1 30 11~48
VPC35-40SE16BC 1112 92.1 40 10~45
VPC35-505(E6BC 1242 106.1 50 09~45 Re‘fseééo
VPC50-205E6BC 85.2 66.1 20 15~49 WP cheie.
VPCS00SE6BC| 98.2 - 79.1 30 11~48
VPC50-408(56BC 112 92.1 40 10~45
VPC50-505F6BC 124.2 105.1 50 09~45

% . [58] : Replaced with Pad rubber material code. Refer to page 820 for details.
3. Bulkhead nut tightening torque : 4.5~6N-m

CAD) CAD data is available at PISCO website.




II Vacuum Pad Series

. Vacuum Pad Long Stroke Series
1 ’Sprlng type with Cover / Side port / Barb fitting /

Sponge Pad
—mm
‘ M14X1
|
<! ‘ 2-Hex.17
(aV)
Hh ‘
S [ lete
0|3 ‘ w
12
7
: —
< =
[=]
_ 16.1 2|2
—'] 8d
Hex.12/ | od g
S
£

Unit © mm

Stroke Spring force Welght CAD
(N) file name

33~100
75.6 95 475 25 295 15 [33~104
916 54.5 34 365 20 |2.0~87
65.6 425 20 245 10 [33~100
75.6 95 475 25 295 15 [33~104
Ikl  VPD15-20S568 91.6 54,5 34 36,5 20 |2.0~87 F;ﬁfsecréo
VPD20-105568 716 485 20 245 10 [33~100 website,
VPD20-1586B| 20 81.6 155 53.5 25 295 15 [33~104
VPD20-20S(5)6B 97.6 60.5 34 365 20 |2.0~87
VPD25-105(568 716 485 20 245 10 [33~100
VPD25-158E6B| 25 816 155 535 25 295 15 |33~104 Dre"")g‘fmg
VPD25-20S(516B 97.6 60.5 34 36,5 20 |2.0~87
VPD30-105568 716 485 20 245 10 [33~100
VPD30-1586B| 30 81.6 155 53.5 25 295 15 [33~104
VPD30-20S(5)6B 97.6 60.5 34 36.5 20 |2.0~87
VPD35-10568 84.1 61 20 245 10 [33~100 Refer to
VPD35-1 35 94.1 28 66 25 295 15 [33~104 PISCO
VPD35-20S(5)6B 110.1 73 34 36.5 20 |20~87 website.
VPD50-10S5)6B 84.1 61 20 245 10 [33~100
VPD50-1586B| 50 94.1 28 66 25 295 15 [33~104
VPD50-20S(516B 110.1 73 34 365 20 |2.0~87

% . [5] : Replaced with Pad rubber material code. Refer to page 820 for details.

3 . Bulkhead nut tightening torque : 4.5~6N-m

N
Long Stoke
Seres

CAD] CAD data is available at PISCO website.

20 & 30



PISCO.

http://en.pisSc0.CO.jp

2D & 3D

,Sprmg type without Cover / Side port / Barb fitting / [CAD

Sponge Pad
ROHS compliant M14X 1
2-Hex.17
&5 '
-‘
g w
@
7
1
<ti
17.1 g % <
8l 8
S -
2 <
= Unit : mm
VPD10-203568C 211 59 41 20 | 15~49
VPDI00SEGBC| . 84.1 o5 72 54 30 | 11~48
VPD10-405E68C 97.1 : 85 67 40 | 10~45
VPD10-505568C 110.1 %8 80 50 | 09~45
VPD15-205E68C 711 59 41 20 | 156~49
VPDIS30SEEBC |, 84.1 05 72 54 30 1.1~4.8 R;;eééo
VPD15-403516BC 97.1 : 85 67 40 | 10~45 webere
VPD15-505E68C 110.1 98 80 50 | 09~45
VPD20-205568C 771 65 41 20 | 15~49
VPD20S0SEREC| 90.1 o5 78 54 30 | 1.1~48
VPD20-405E6BC 103.1 : o1 67 20 | 10~45
VPD20-505568C 116.1 104 80 50 | 09~45
VPD25-205568C 771 65 41 20 | 16~49
VPD2530SE6EC| 90.1 . 78 54 30 | 11~48] Now
VPD25-403E68C 103.1 : o1 67 40 | 1.0~45 | preparing
VPD25-508(E6BC 116.1 104 80 50 | 09~45 R;fseééo
VPD30-205568C 771 65 41 20 | 16~49 wehere
VPDI-0SEREC| 90.1 o5 78 54 30 | 1.1~48
VPD30-405E6BC 103.1 : o1 67 40 | 10~45
VPD30-505E68C 116.1 104 80 50 | 09~45
VPD35-205568C 89.7 776 41 20 | 156~49
VPDI5-30SEBBC| 102.7 s 906 54 30 | 11~48
VPD35-403568C 1152 103.6 67 20 | 10~45
VPD35-505568C 1287 116.6 80 50 | 09~45 R;;eééo
VPD50-205568C 89.7 776 41 20 | 156~49 wehere
VPDS00SEBBC| 1027 ” 906 54 30 | 11~48
VPD50-40556BC 1167 103.6 67 40 | 10~45
VPD50-505E68C 1287 116.6 80 50 | 09~45

% . (5] : Replaced with Pad rubber material code. Refer to page 820 for details.
% . Bulkhead nut tightening torque : 4.5~6N-m

CAD) CAD data is available at PISCO website.




& Vacuum Pad Series
Vacuum Pad Long Stroke Series

vPC! \4=L=)) Spring type with Cover / Top port / Push-in fitting /

« MBN —

« MON —

N
Long Stoke
Seres

Bellows Pad
HS \
WOVPCG‘ 8-[1BJ @®VPC10. 15-1B[] @®VPC20~50-1B[] gg
26 ~
N oy~
I = (R Al
L ,‘, A
‘ hM14X1
‘ h M14 X1 o ‘
/I mhii
24, 3 o 2-Hex.17
: E] 2-Hex.17 1
(N = - m
L @ ‘ ‘ ‘ \H
3 2-H14 | S let6
N [ 2 T
5l 016 s
M12X1 0§ @
il il o |2 9 | | | Hex.12
wI;é; } 013 Hex.12 S
e 5 %
— prt —= -
— d : —
led
Lg—dJ LE—dJ Unit : mm
VPC6-10B514J819) 59.7 29.5 20 10 0.8~2.7
VPC6-15824J8/3) 6 70.7 10 345 25 15 0.7~3.0
VPC6-20B54/8(0 80.7 395 34 20 | 09~34 3
VPC8-10B514J819) 59.7 29.5 20 10 0.8~2.7
VPC8-15B514J(B17) 8 70.7 10 345 25 15 0.7~3.0
VPC8-20854J813) 80.7 39.5 34 20 0.9~34
VPC10-1086.8[9) 726 385 20 10 2.0~52 Refer to
VPC10-15B56J81%) 10 82.6 16 435 25 15 2.0~5.9 PISCO
VPC10-20BE6J89] 98.6 50.5 34 20 1.1~4.8 website.
VPC15-10B2)6J(81%) 72.6 38.5 20 10 2.0~5.2
VPC15-15B516J(61%) 15 82.6 16 435 25 15 20~59 =
VPC15-20856J81%) 98.6 50.5 34 20 1.1~48
VPC20-1086.89] 77.1 43 20 10 [33~100 N Refer to
VPCA15BERIEE| 20 87.1 19 48 25 15 |33~104| 2% | pisco
———— preparing .
VPC20-20856J813) 103.1 55 34 20 2.0~87 website.
VPC25-10B2)6J(81%) 77.1 43 20 10 3.3~10.0
VPC25-15B516J(61%) 25 87.1 19 438 25 15 3.3~10.4 =
VPC25-20856J81%) 103.1 55 34 20 2.0~8.7
VPC30-10B2)6J(81%) 81.1 47 20 10 3.3~10.0
VPC30-15B(56J81%) 30 91.1 23 52 25 15 3.3~104
VPC30-208E6J813) 107.1 59 34 20 2.0~87
VPC40-10B6.89) 88.1 54 20 10 [33~100 Refer to
VPC40-15B516J(61%) 40 98.1 30 59 25 15 3.3~104 PISCO
VPC40-20B5l6J8)9] 114.1 66 34 20 2.0~87 website.
VPC50-10B2)6J8/9) 90.1 56 20 10 3.3~10.0
VPC50-15B(56J81%) 50 100.1 32 61 25 15 3.3~104
VPC50-20856J83) 116.1 68 34 20 2.0~87
% . [5] : Replaced with Pad rubber material code. Refer to page 820 for details.
% . (8] : Replaced with “-Q" for a mark-free resin attachment
% . Add extra lengths below to the dimension B in the table above for dimension including a resin attachment.
Pad O.D. (mm) 910 [ 915 [ 920 [ 925 [ 930
Lengh added o imensin B (m) 0.5 | 05 | 05 | 0.8 \ 1

% . [9) : Replaced with Resin attachment material code. Refer to page 820 for details.
% . Bulkhead nut tightening torque, Pad dia. : 86 ~@8mm » 8 ~10N-m. Pad dia. : 810 ~850mm > 4.5~ 6N-m



PISCO.

http://en.pisSc0.CO.jp

\Z=(=)) Spring type without Cover / Top port / Push-in fitting /

Bellows Pad
RoHS compliant 26
22
T
T == M14 X1
o <
2-Hex.17
s O 5 E
(%]} C
S 2EE
<
- 25
| Oc
—T <
Lod ) Unit © mm
VPC20-208(56./CB13 80.2 57.1 20 156~49
VPCHORBERIET| 932 0 70.1 30 11~48 F;e‘fseééo
VPC20-40B216JC8/3) 106.2 83.1 40 1.0~45 website.
VPC20-508(56./CB13 119.2 96.1 50 09~45
VIPC25-20B(26JC6/9) 80.2 57.1 20 156~4.9
z VPC25-30B/26JC813) 05 93.2 19 70.1 30 1.1~48 _
= VPC25-40BEAICEIT 106.2 83.1 40 1.0~45
\ VIPC25-508(26JC/9) 119.2 96.1 50 09~45
VPC30-208126/C8/3) 84.2 61.1 20 15~49
VPC30-30B56./CB13) 30 97.2 23 74.1 30 1.1~48 Now
VPC30-40B26.C8/3) 110.2 87.1 40 1.0~45 | preparing
VPC30-50826C8/3) 123.2 100.1 50 09~45
VIPC40-20826J08/3 91.2 68.1 20 16~4.9
VPCABERCED| 104.2 20 81.1 30 1.1~48 R;‘;eééo
VPC40-40B86.C813) 117.2 941 40 1.0~45 website.
VIPC40-5086JC8/3) 130.2 107.1 50 09~45
VPC50-20826JC8/3) 93.2 70.1 20 15~49
VPC50-30826JC8/3) 50 106.2 30 83.1 30 1.1~48
VPC50-40B(56./CB13) 119.2 96.1 40 1.0~45
VPC50-50826/C8/3) 132.2 109.1 50 09~45
* : Replaced with Pad rubber material code. Refer to page 820 for details.
. [8] : Replaced with “-Q” for a mark-free resin attachment
% . Add extra lengths below to the dimension B in the table above for dimension including a resin attachment.
Pad O.D. (mm) 910 [ 915 [ 920 [ 925 [ 030
Lengh addedodimension B (mm) 05 | 05 | 05 | 08 \ 1

% [9) : Replaced with Resin attachment material code. Refer to page 820 for details.
% . Bulkhead nut tightening torque : 4.5~6N-m

CAD) CAD data is available at PISCO website.




& Vacuum Pad Series
Vacuum Pad Long Stroke Series

vPD! \4zl=]) Spring type with Cover / Side port / Push-in fitting /

N
Long Stoke
Seres

« MBN —

« MON —

Bellows Pad
w.VPDB\B-DBD ®VPDI10. 15-1B[] @®VPD20~50-1B[]
N L 20 |
‘ M14X1
‘ M14 X1 ‘ b
© ‘ Alerd |
g1 & 2-Hex.17
N 2-Hex.17
T
Y ”h ‘ | !
3 m T Tlots o o AL
0§ ‘ w 1 ‘ 17
n
3 = 11.7 q — |
1 f %
] J F} - Y 20.1|®
- %& ° -
- -
Hex.12] | od | Hex.12/|_ od Unit - mm
VPD6-10B54/8/9) 59.1 385 17.5 21 10 |0.8~27
VPDG-15854J88] 6 70.1 10 435 235 26 15 0.7~3.0
V/PDE-20B4JE[3) 80.1 48.5 28.5 31 20 09~3.4
\/PD8-10BE14JE13) 59.1 38.5 17.5 21 10 0.8~2.7 B
\/PD8-15854J813) 8 70.1 10 435 2815 26 15 0.7~3.0
V/PD8-20B4JE3] 80.1 48.5 28.5 31 20 09~3.4
VPD10-10B56J89] 7.1 48 20 25 10 20~5.2 Refer to
VPD10-15B56J89] 10 81.1 16 53 25 30 15 2.0~59 PISCO
VPD10-20856J8/3) 97.1 60 34 37 20 1.1~48 website.
VPD15-10BE6JE[3) 7.1 48 20 25 10 2.0~5.2
VPD15-15856J813) 15 81.1 16 B3 25 30 15 20~59 =
VPD15-20856J81%) 97.1 60 34 37 20 1.1~48
VPD20-10B56J89] 75.1 52 20 245 10 3.3~10.0 Refer to
VPD20-15B56J891 20 85.1 19 57 25 29.5 15 33~104 pre’\[l)gvr\;ng PISCO
VPD20-20856J8/%) 101.1 64 34 36.5 20 2.0~8.7 website.
VPD25-10BE6JE3) 75.1 52 20 245 10 3.3~10.0
VPD25-15856J(813) 25 85.1 19 57 25 295 15 3.3~10.4 =
VPD25-20856J81%) 101.1 64 34 36.5 20 2.0~8.7
VPD3(0-10B56J89] 79.1 56 20 245 10 3.3~10.0
VPD30-15856J813) 30 89.1 23 61 25 29.5 15 33~104
VPD30-208E6J68/%) 105.1 68 34 36.5 20 2.0~8.7
VPD40-10BE6JE13) 86.1 63 20 245 10 3.3~10.0 Refer to
VPD40-15856J813) 40 96.1 30 68 25 29.5 15 33~10.4 PISCO
VPD40-20B(E6.819 1121 75 34 365 20 |2.0~87 website.
VPD5(0-10B56J89] 88.1 65 20 245 10 3.3~10.0
VPD50-15856J813) 50 98.1 32 70 25 29.5 15 33~104
VPD50-20856J8/%) 1141 77 34 36.5 20 2.0~8.7
% . [5] : Replaced with Pad rubber material code. Refer to page 820 for details.
% . [8] : Replaced with “-Q" for a mark-free resin attachment
% . Add extra lengths below to the dimension B in the table above for dimension including a resin attachment.
Pad O.D. (mm) 910 [ 915 [ 920 [ 925 [ 930
Lengh adied o dinension B (mm) 05 | 05 | 05 | 08 \ 1

% . [9) : Replaced with Resin attachment material code. Refer to page 820 for details.
%% . Bulkhead nut tightening torque, Pad dia. : 86 ~08mm » 8 ~10N-m. Pad dia. : 810~ @50mm » 4.5~6N-m



PISCO.

http://en.pisSc0.CO.jp

\Zz1=)) Spring type without Cover / Side port / Push-in fitting /
Bellows Pad
M1451

& Th
g w
a
11.7
21.1 é
25
— °§
Hex14]|_od | Unit © mm
VPD20-20856JC8 9] 80.7 68.6 41 20 15~4.9
VPOORBTACTT | 93.7 i 816 54 30 | 11~48 R;fgecréo
VPD20-40B26JC /Y 106.7 94.6 67 40 1.0~45 website.
VPD20-508216/C8/3) 119.7 107.6 80 50 0.9~45
VPD25-208156.C8/3) 80.7 68.6 41 20 15~49
z \IPD25-30B(26JC/3) o5 93.7 19 81.6 54 30 1.1~48 _
= VPD2540BEl6JCEITI 106.7 94.6 67 40 1.0~45
. VPD25-50826.C8/3) 119.7 107.6 80 50 0.9~45
VPD30-20826J08/3 84.7 72.6 41 20 1.5~49
VPD30-30BE6JCBS) 0 97.7 23 85.6 54 30 11~48 | Now
VPD30-40B26.C8/3) 110.7 98.6 67 40 1.0~45 | preparing
VPD30-50826J08/3 123.7 111.6 80 50 0.9~45
VPD40-20856/C8/3) 91.7 79.6 41 20 15~49
[ ] 104.7 0 926 54 30 | 11~48 R;fsecréo
VIPD40-40B6JC /) 117.7 105.6 67 40 1.0~45 website.
VPD40-508216/C8/3) 130.7 118.6 80 50 0.9~45
VPD50-208E6JCB19) 93.7 81.6 41 20 15~49
VIPD50-30826J08/3 106.7 94.6 54 30 1.1~48
50 32
VPD50-40B216.C8/3) 119.7 107.6 67 40 1.0~45
VPD50-50826JC8/3) 132.7 120.6 80 50 09~45
% . (5] : Replaced with Pad rubber material code. Refer to page 820 for details.
% . (8] : Replaced with “-Q" for a mark-free resin attachment
% . Add extra lengths below to the dimension B in the table above for dimension including a resin attachment.
Pad O.D. (mm) 910 \ 915 \ 920 \ 025 \ 930
Lengh added o dimension B (m) 05 | 05 | 0.5 | 0.8 | 1

% . [9) : Replaced with Resin attachment material code. Refer to page 820 for details.
3 . Bulkhead nut tightening torque : 4.5~6N-m

CAD) CAD data is available at PISCO website.




& Vacuum Pad Series
Vacuum Pad Long Stroke Series

vPC! ,Sprmg type with Cover / Top port / Barb fitting /
Bellows Pad
M.VPCG‘B-DBD O®VPC10. 15-(1B] @®VPC20~50-[1B[]
06X 04 . 86X@4(Tube 0.D. x I.D.)
~
| ‘ N M14X1
‘ hM14X1 . ‘
3 ghjie=
(Tube%‘.‘[ffl.zll.).s) :: 1 oHex.17 o 2-Hex.17
N~ @ | “ﬂl
. mizx1| Ll |
oY | I [ ]lets
Al 2-H14 s 1 216 o § ;
@ Ll ] @ 5 ‘ 9 - ‘ Hex.12
wlg 013 - | | Hex.12 .
A s — -
- h -
-}
od T ed —ed Unit : mm
VPC6-108488)Y 57.1 295 20 10 0.8~2.7
6 68.1 10 345 25 15 0.7~3.0
78.1 395 34 20 09~34
57.1 295 20 10 0.8~2.7 B
8 68.1 10 345 25 15 0.7~3.0
VPC8-2084B89] 78.1 395 34 20 09~34
VPC10-10BE6BEIY 68.6 385 20 10 2.0~52 Refer to
VPC10-15BT6BEIY| 10 786 16 435 25 15 2.0~59 PISCO
VPC10-20856BE]9] 94.6 50.5 34 20 11~48 website.
+ VPCi5-108E6BR(E 68.6 385 20 10 2.0~5.2
Z VPCi5-15B56BBE| 15 786 16 435 25 15 2.0~59 -
3 VPC1520856889 946 385 34 20 1.1~48
VPC20-10BE6BEIY 73.1 43 20 10 [33~100 Now Refer to
VPC20-15BE6BET | 20 83.1 19 48 25 15 133~104| o ie| PISCO
VIPC20-20B56B8/3] 99.1 55 34 20 2.0~87 website.
+ VPC25-10BE6BR(E 73.1 43 20 10 [33~100
Z \PC25-15BE6BEIY| 25 83.1 19 48 25 15 33~104 —
3 VPC25208T688Y 99.1 55 34 20 | 20~87
VPC30-10BE6BEIY 77.1 47 20 10 [3.3~100
VPC3(0-158568(813) 30 87.1 23 52 25 15 3.3~104
VIPC30-20856B8/3] 103.1 59 34 20 2.0~87
VPC40-10BE6BEIE) 84.1 54 20 10 [33~100 Refer to
VPC40-15BE6BEIG| 40 94.1 30 59 25 15 [33~104 PISCO
VPC40-20B56BE/3] 110.1 66 34 20 2.0~87 website.
VPC50-10BE6BEIY 86.1 56 20 10 [3.3~100
— VPC0-1BEEBEE| 50 96.1 32 61 25 15 [33~104
s VPC50-208E6BEE] 1121 68 34 20 2.0~8.7

% . [5) : Replaced with Pad rubber material code. Refer to page 820 for details.
. [8] : Replaced with “-Q” for a mark-free resin attachment
% . Add extra lengths below to the dimension B in the table above for dimension including a resin attachment.
Pad O.D. (mm) 910 [ 915 [ 920 [ 925 [ 930
Lengh adied o dinension B (mm) 05 | 05 | 05 | 08 \ 1

.[9) : Replaced with Resin attachment material code. Refer to page 820 for details.
. Bulkhead nut tightening torque, Pad dia. : 86 ~#8mm » 8 ~10N:m, Pad dia. : 810 ~050mm » 4.5~ 6N-m




PISCO.

http://en.pisSc0.CO.jp

\4=L=)) Spring type without Cover / Top port / Barb fitting /

Bellows Pad
06X 04

(Tube O.D.x 1.D.)[ |

(Uvivv ey
B
L2

10 <
J ] 28
O Oc
<
od Unit © mm
VPC20-20856BCE/Y 76.2 57.1 20 156~49
VPC2)30BE6BCEIE 89.2 70.1 30 11~48 Refer to
VPC20-40BE6BCEIS) 20 102.2 19 83.1 40 1.0~45 P\SCQ
— website.
VPC20-50826BCE/3) 115.2 96.1 50 09~45
VPC25-20BE6BCB1Y 76.2 57.1 20 156~4.9
z VPC25-30B6BCBI3) 5 89.2 19 70.1 30 1.1~48 _
= \/PC25-40B6BCE/Y 102.2 83.1 40 1.0~45
VPC25-50BE6BCEIS) 1156.2 96.1 50 09~45
VPC30-20826BCBI3) 80.2 61.1 20 156~49
VPC30-30B26BCE/Y 30 93.2 23 741 30 1.1~48 Now
VPC30-40BE6BCEIS) 106.2 87.1 40 1.0~4.5 | preparing
VPC30-50826BCBI3) 119.2 100.1 50 09~45
VPC40-20B6BCE/) 87.2 68.1 20 16~4.9 Refer t
-30BE6BCEY 1002 81.1 30 11~48 ererto
xggjgiggézgg%% 40 113.2 % 94.1 40 1.0~45 P‘SC.O
— website.
VPC40-50856BC/3) 126.2 107.1 50 09~45
VPC50-20BE6BCE/3) 89.2 70.1 20 156~49
VPC50-30B26BCBI3) 50 102.2 0 83.1 30 1.1~48
VPC50-40B6BCE/3) 115.2 96.1 40 1.0~45
VPC50-50BE6BCE/3) 128.2 109.1 50 09~45
R : Replaced with Pad rubber material code. Refer to page 820 for details.
% . (8] : Replaced with “-Q" for a mark-free resin attachment
% . Add extra lengths below to the dimension B in the table above for dimension including a resin attachment.
Pad O.D. (mm) 910 [ 915 [ 920 [ 925 [ 030
Lengh addedodimension B (mm) 05 | 05 | 05 | 08 \ 1

% . [9) : Replaced with Resin attachment material code. Refer to page 820 for details.
% . Bulkhead nut tightening torque : 4.5~6N-m

CAD) CAD data is available at PISCO website.




& Vacuum Pad Series
Vacuum Pad Long Stroke Series

1 ,Sprmg type with Cover / Side port / Barb fitting /

BeI lows Pad
.VPDB\B-DBD @®VPD10. 15-[1B] @®VPD20~50-[1B[]
[ mm
‘ M14 X1
‘ M14X1 o
b |
| [e0] ‘
™ = <1
5t U 2-Hex.17
N 2-Hex.17
7
‘
L o | L [lete
o 216 i ‘ w
n|s ‘ w 8
&
= 7
q 7 9 ]
. [ :"" — [ g §
ot p AN SEMLLA s
Bk — ©|a ] ®|o
95 - Q|o 8
Q|s Hex.12 e Hex.12/
< ex12/|od = ad Unit : mm
VPD6-10854B8)Y 59.1 385 17.5 21 10 |08~27
T VIPD6-15BE4BE]9) 6 70.1 10 435 235 26 15 [07~30
- VPD6-2084BE(T 80.1 485 285 31 20 |09~34 _
2 VPD8-10BE4BEIY 59.1 385 17.5 21 10 |08~27
847 i 5 8 0.1 10 435 235 26 15 [07~30
VIPD8-20B4B(8] 9] 80.1 485 285 31 20 |09~34
VPD10-10BE6BEIY 71.1 48 20 25 10 |2.0~52 Refer to
VPD10-15BE6BEIE | 10 81.1 16 53 25 30 15 [20~59 PISCO
VPD10-20B56B8/3] 97.1 60 34 37 20 |1.1~48 website.
+ VPDI5-108E6B8(E 711 48 20 25 10 [20~52
Z \PDI5-15BE6REIE| 15 81.1 16 53 25 30 15 |2.0~59 -
3 VPD1520856889 971 60 34 37 20 |1.1~48
VPD20-10BE6BEIY 75.1 52 20 245 10 [33~100 N Refer to
VPD20-58E6BET| 20 85.1 19 57 25 295 15 |33~104 DreD‘;Verg PISCO
VIPD20-20856B8/3] 101.1 64 34 36.5 20 |20~87 website.
+ VPD25-10BE6BR(E 75.1 52 20 245 10 [33~100
Z \PD25-15BE6REIE| 25 85.1 19 57 25 295 15 |33~104 -
S VPD25208568EY 101.1 64 34 36.5 20 |2.0~87
VPD30-10BE6BEIY 79.1 56 20 245 10 [33~100
VPD30-15BE6BE[E | 30 89.1 23 61 25 295 15 |33~104
VIPD30-20856BE/3] 105.1 68 34 36.5 20 |20~87
VPD40-10BE6BEI8) 86.1 63 20 245 10 [33~100 Refer to
VPD40-15BE6BEIS | 40 96.1 30 68 25 295 15 |33~104 PISCO
VIPD40-20B56BE/3] 1121 75 34 36.5 20 |20~87 website.
VPDS0-10BE6BEIY 88.1 65 20 245 10 [33~100
— VPDS0-158368B00| 50 98.1 32 70 25 295 15 |33~104
% \PD50-20856B8/Y 1141 77 34 36.5 20 |2.0~87
* : Replaced with Pad rubber material code. Refer to page 820 for details.
: Replaced with “-Q” for a mark-free resin attachment
% . Add extra lengths below to the dimension B in the table above for dimension including a resin attachment.
Pad O.D. (mm) 910 [ 915 [ 920 [ 925 [ 930
Lengh added o dinension B (mm) 05 | 05 | 05 | 08 \ 1

. (9] : Replaced with Resin attachment material code. Refer to page 820 for details.

% . Bulkhead nut tightening torque, Pad dia.

: 96 ~08mm » 8 ~10N'm. Pad dia. :

010~ @50mm > 4.5~6N-m



« MON —

PISCO.

http://en.pisSc0.CO.jp

\4=1=]) Spring type without Cover / Side port / Barb fitting /

Bellows Pad
ROHS compliant M14X 1
T oHex17
g w
12}
7 v
I
e
X | % <
17.1 3 g )‘;i)
- @ °s
14/ od | Unit © mm
VPD20-20BE6BCEIY 80.7 68.6 41 20 1.56~49
VOLBERCET | 93.7 i 816 54 30 | 1.1~48 R;;ecréo
VPD20-40BE6BCBIS! 106.7 94.6 67 40 1.0~45 website.
VPD20-50856BC313) 119.7 107.6 80 50 0.9~45
VPD25-20BE6BCEIS) 80.7 68.6 41 20 15~49
VPD25-30B26BCE/Y o5 93.7 19 81.6 54 30 1.1~48 _
VPD25-40B56BC19! 106.7 94.6 67 40 1.0~4.5
VPD25-50BE6BCEIS) 119.7 107.6 80 50 0.9~45
VPD30-2086BCBI3! 84.7 72.6 41 20 1.5~49
VPDSO-SOB\EGBCEE 30 97.7 23 85.6 54 30 1.1~48 Now
VPD30-40B6BCEY] 110.7 98.6 67 40 1.0~45 | preparing
VPD30-50826BCE/ 123.7 111.6 80 50 09~45
VPD40-20BE6BCEIS) 91.7 79.6 41 20 15~49
VPDAOMBERRCEE| 104.7 0 926 54 30 | 1.1~48 R;fseééo
VIPD40-40B56BCE/Y 11727 105.6 67 40 1.0~45 website.
VPD40-50BE6BCEIS) 130.7 118.6 80 50 0.9~45
VPDS50-20BE6BCE/3) 93.7 81.6 41 20 15~49
VPD50-30B26BCE/3) 50 106.7 30 94.6 54 30 1.1~48
VPD50-40BE6BCEIY) 119.7 107.6 67 40 1.0~45
VPDS50-50BE6BCE/3) 132.7 120.6 80 50 0.9~45
¥ : Replaced with Pad rubber material code. Refer to page 820 for details.
% . (8] : Replaced with “-Q" for a mark-free resin attachment
. Add extra lengths below to the dimension B in the table above for dimension including a resin attachment.
Pad O.D. (mm) 010 \ 015 \ 920 \ 025 \ 030
Lengh addedodimenson B (mm) 05 | 05 | 05 | 08 | 1

% . [9) : Replaced with Resin attachment material code. Refer to page 820 for details.
3. Bulkhead nut tightening torque : 4.5~6N-m

CAD) CAD data is available at PISCO website.




& Vacuum Pad Series
Vacuum Pad Long Stroke Series

lvPC ,Sprmg type with Cover / Top port / Push-in fitting / CAD

Oval Pad
X
B
L1 L2 E
s 24, .
(Stroke)
_ _ ‘:77 g
i o
S 2Hex.17 M14X1
Unit : mm
2., VPCR-{0ETE) 69.1 35 20 10 |33~100
§§j VPC2x4-15E56) 2 4 79.1 40 25 15 |33~104
> 2 VPC2U20EK) 95.1 47 34 20 | 20~87
£ VPC35.7-10ED6) 69.1 35 20 10 |33~100
i VPC35-5E6)| 3.5 7 79.1 40 25 15 |33~104
VPC35x7-20E T 95.1 47 34 20 | 20~87
VPCAx10-10E6J 69.1 35 20 10 |33~100
VPCxIOISERR) | 4 10 79.1 40 25 15 |33~104
VPC4x10-20ET6 95.1 47 34 20 | 20~87
VPCA4x20-10E56J 69.1 35 20 10 |33~100 Refer to
VPCHOTSERR) | 4 20 79.1 40 25 15 |33~104 PISCO
VPC4x20-20E 6 95.1 47 34 20 | 20~87 website.
O VPCéaD-0EGE 69.1 35 20 10 |33~100
VPCHAISERR) | 4 30 79.1 40 25 15 |33~104
VPC4x30-20ET6) 95.1 47 34 20 | 20~87
VPC5x10-10E6J 69.1 35 20 10 |33~100
VPCEXIO-15EB | 5 10 79.1 40 25 15 |33~104
VPC5x10-20E 6 95.1 47 34 20 | 20~87
VPC5x20-10E 6 69.1 35 20 10 |33~100 Refer to
VPCH2015E58 | 5 20 79.1 40 25 15 |33~104]| MW | pisco
U —— preparing .
VPC5x20-20E T 95.1 47 34 20 | 20~87 website.
VPC5x30-10EE6 69.1 35 20 10 |33~100
VPCHAI5EER | 5 30 79.1 40 25 15 |33~104
VPC5x30-20E 6 95.1 47 34 20 | 20~87
VPCBx10-10E6J 69.1 35 20 10 |33~100
VPCOxIO-1SERR) | 6 10 29.1 40 25 15 |33~104
VPC6x10-20E 6 95.1 47 34 20 | 20~87
VPC6x20-10E6J 69.1 35 20 10 |33~100 Refer to
VPCoR015EDE) | 6 20 79.1 40 25 15 |33~104 PISCO
VPC6x20-20E 6 95.1 47 34 20 | 2.0~87 website.
VPCBx30-10EE6 69.1 35 20 10 |33~100
VPCHQ015EDE) | 6 30 79.1 40 25 15 |33~104
VPC6x30-20E 6 95.1 47 34 20 | 20~87
VPCBx20-10E 56 69.1 35 20 10 |33~100
“eme  VPCHQMSEER)| 8 20 79.1 40 25 15 |33~104
¥ \PCex20-20E k) 95.1 47 34 20 | 2.0~87 Refer to
VPCBX30-10E 5 69.1 35 20 10 |33~100 WP ;Eg?e
VPCBAISEDE) | 8 30 79.1 40 25 15 |33~104
VPC8x30-20E 6 95.1 47 34 20 | 20~87

% . [5] : Replaced with Pad rubber material code. Refer to page 820 for details.
3 . Bulkhead nut tightening torque : 4.5~6N-m



PISCO.

http://en.pisSc0.CO.jp

L=1=) Spring type without Cover / Top port / Push-in fitting / Oval Pad unit : mm

¢

2,
Q

CAD) n VPC2(-ETBIC 722 | 491 20 |15~49
&4 VPCRETO | y 852 | 62.1 30 |11~48
VPC2-4EBRIC 982 | 751 40 [1.0~45
Z VPCZSEBIC 1112 | 881 50 |09~45
£ S VPCasTuERe 722 | 491 20 |156~49
E VPCISTNEER| ; 852 | 621 30 [1.1~48
3 VPC35T4ETRC| 982 | 751 40 [1.0~45
E VPC35750ETBIC 1112 | 881 50 |09~45
3 VPCAXI0-20ETEIC 722 | 491 20 |15~49
VPOHILMESBIC| o 852 | 62.1 30 [11~48 3
VPCAXI0-LOETIGIC 982 | 751 40 [1.0~45 3
VPC4x10-50E56JC 1112 | 881 50 |09~45 o
VPCH20-20ETIC 722 | 491 20 |1.6~49 2
VCOAIETRG| . 852 | 621 30 [1.1~48 R;‘fseééo
VPCH20LETIC 982 | 751 40 [1.0~45 et
VPCHQOS0ETEIC 1112 | 881 50 |09~45
VPCHGI-20ETIC 722 | 491 20 |16~49
VPOLGLUESBIC| 0 852 | 62.1 30 |1.1~48
VPCAG0-LETEIC 982 | 751 40 [1.0~45
VPCAXASOETB/C 1112 | 881 50 |09~45
VPC5X10-20ET6IC 722 | 491 20 |156~49
VPCEILMESBIC| " 852 | 621 30 [1.1~48
VPCEXI0-4ET6IC 961 | 75.1 40 |1.0~45
VPC5X10-50ET6.C 1112 | 881 50 |09~45
VPCH02ETIC 722 | 491 20 |15~49
VPCH.QUAEBRIC| 20 852 | 621 30 [11~48| Now Rpe‘fseé éo
VPC5x20-40ET16JC 98.2 75.1 40 1.0~4.5|preparing website.
VPCH20S0ETEIC 1112 | 881 50 [09~45
VPCBX30-20ET6IC 722 | 491 20 |1.6~49
e w0 852 | 62.1 30 [1.1~48
VPC5X30ETIC 982 | 751 40 [1.0~45
VPCBX30-S0ET6.C 1112 | 881 50 |09~45
VPC5x10-20ET6.C 722 | 491 20 |156~49
VCHIOETR| " 852 | 62.1 30 |1.1~48
VPCoX10-40ETEIC 982 | 751 40 [1.0~45
VPCBX10-50ET6.C 1112 | 881 50 |09~45
VPCH20-2ETIC 722 | 491 20 |15~49
VOHAAETRC| 0 852 | 621 30 [1.1~48 R;‘;eééo
VPCBX20-HETIC 982 | 751 40 |1.0~45 o,
VPCBx20S0ETEIC 1112 | 881 50 |09~45
VPCBX30-20ETIC 722 | 491 20 |15~49
VPCHALMESBIC| w0 852 | 62.1 30 [11~48
VPCBX30-40ET6IC 982 | 751 40 [1.0~45
VPCBX30S0ETE.C 1112 | 881 50 [09~45
VPCB0-2ETIC 722 | 491 20 |1.6~49
VPCHALMESBIC| " 852 | 62.1 30 |1.1~48
VPCB0ETIC 982 | 751 40 [1.0~45
VPCB0-S0ET6.C 112 | 881 50 |09~45 Rpe‘fseééo
VPCBA0-20ETIC 722 35 20 |156~49 ot
VCHALMESBIC| 0 862 40 30 [1.1~48
VPCBA0-HETEIC 982 | 751 40 [1.0~45
VPOBS0ET6.C 1112 | 881 50 |09~45

% . [5] : Replaced with Pad rubber material code. Refer to page 820 for details.
3% . Bulkhead nut tightening torque : 4.5~6N-m




& Vacuum Pad Series
Vacuum Pad Long Stroke Series

vPD! \4zl=]) Spring type with Cover / Side port / Push-in fitting /

Oval Pad ) =
B :
L1 L2 E
S 2-4 |
(Stroke)
§ 2-Hex.1;M
E
Unit : mm
§o VPD2x4-10E[56) 67.1 44 20 245 10 [33~100
Qal  VPD2x4-15EE6) 2 4 77.1 49 25 295 15 [33~104
> 2 \PD2-20EER 93.1 56 34 36.5 20 |2.0~87
2 VP03 5x7-10EB) 67.1 44 20 245 10 [33~100
i VPD35x7-15E6)| 3.5 7 77.1 49 25 295 15 [33~104
VPD35x7-20E5)6 93.1 56 34 36.5 20 [2.0~87
VPD4x10-10EE6 67.1 44 20 245 10 [33~100
VPD4x10-15E56) 4 10 77.1 49 25 295 15 |33~104
VPD4x10-20E56) 93.1 56 34 36.5 20 |2.0~87
VPD4x20-10E(El6 67.1 44 20 245 10 [33~100 Refer to
VPD4x20-15E56) 4 20 77.1 49 25 295 15 [33~104 PISCO
VPD4x20-20E(5)6 93.1 56 34 365 20 |2.0~87 website.
VPD4x30-10EE6 67.1 44 20 245 10 [33~100
VPD4x30-15E56) 4 30 77.1 49 25 295 15 |33~104
VPD4x30-20E5)6) 93.1 56 34 36.5 20 |2.0~87
VPD5x10-10E(El6 67.1 44 20 245 10 [33~100
VPD5x10-15E56) 5 10 77.1 49 25 295 15 [33~104
VPD5x10-20E56J 93.1 56 34 36.5 20 |20~87
VPD5x20-10EE6 67.1 44 20 245 10 [33~100 Now | REfer 0
VPD5x20-15E56) 5 20 77.1 49 25 29.5 15 |33~104 | PIsCo
bttt bl preparing .
VPD5x20-20E5)6) 93.1 56 34 36.5 20 |20~87 website.
VPD5x30-10EEl6 67.1 44 20 245 10 [33~100
VPD5x30-15E56J 5 30 77.1 49 25 295 15 [33~104
VPD5x30-20E5)6 93.1 56 34 36.5 20 |2.0~87
VPD6x10-10EE6 67.1 44 20 245 10 [33~100
VPDBx10-15E56) 6 10 77.1 49 25 295 15 |33~104
VPDx10-20E5)6) 93.1 56 34 36.5 20 |2.0~87
VPD6x20-10E[5l6. 67.1 44 20 245 10 [33~100 Refer to
VPD6x20-15EEl6. 6 20 77.1 49 25 29.5 15 [33~104 PISCO
VPD6x20-20E(El6. 93.1 56 34 36.5 20 [20~87 website.
VPD6x30-10E5l6 67.1 44 20 245 10 [33~100
VPDBx30-15E56) 6 30 77.1 49 25 295 15 |33~104
VPDBx30-20E5)6) 93.1 56 34 36.5 20 |20~87
o /PD8X20-10ET) 67.1 44 20 245 10 [33~100
WESte  VPDRx20-15EER) | 8 20 77.1 49 25 295 15 [33~104
VPD8x20-20E/56. 93.1 56 34 36.5 20 [2.0~87 Refer to
V/PD8x30-10E(5l6. 67.1 44 20 245 10 [33~100 WP ;igg
VPD8x30-15E56) 8 30 77.1 49 25 295 15 |33~104
VPDBx30-20E5)6J 93.1 56 34 36.5 20 |20~87

% . [5] : Replaced with Pad rubber material code. Refer to page 820 for details.
% . Bulkhead nut tightening torque : 4.5~6N-m



PISCO.

http://en.pisSc0.CO.jp

A4=1=]) Spring type without Cover / Side port / Push-in fitting / Oval Pad  unit : mm

&2 VPDRA-2EBRIC 7226 | 605 | 41 20 |16~49
& ." VPDZAAETHI | , | 858 | 715 | &4 | 30 [11~48
VPDR-4EBRIC 986 | 865 | 67 | 40 |1.0~45
! Z VPDESEBIC 1116 | 995 | 80 | 50 |0.9~456
2 VPD35T-20EEELC 726 | 605 | 41 20 |15~49
VPDRSINEER| , 856 [ 735 | &4 | 30 [1.1~48
VPD35T4ETRC] 986 | 865 | 67 | 40 |1.0~45
VPD357-50ETBC 1116 | 995 | 80 | 50 |0.9~45
VPDAXI020ETIC 726 | 605 | 41 20 |16~49
VPDEILHESBIC| o | 856 [ 735 | &4 | 30 [1.1~48 3
VPDAXI0-LOETI6IC 986 | 865 | 67 | 40 |1.0~45 -
v VPDAXI0S0ETEIC 1116 | 995 | 80 | 50 |0.9~45 B¢
s VPDA0-20ETIC 726 | 605 | 41 20 |16~49 =
= VPDLGORETRC| o | 856 [ 735 | 64 30 [11~48 Rpe‘fseégo
of < VPDAX04OET6/C 986 | 865 | 67 | 40 |1.0~45 ot
VPDAOS0ETEIC 1116 | 995 | 80 | 50 |0.9~45
VPDAGO-20ETEIC 726 | 605 | 41 20 |16~49
VPDLGLIESBIC| 5 | 856 | 735 | 54 | 30 [1.1~48
v VPDAG0-LETEIC 986 | 865 | 67 | 40 |1.0~45
VPDAXA0SOET6/C 1116 | 995 | 80 | 50 |0.9~45
- VPD5X10-20ET6.C 726 | 605 | 41 20 |15~49
VPDSKILHESBIC| o |86 [ 735 | 61 | 30 [1.1~48
VPD5XI0-40ET6.C 986 | 865 | 67 | 40 |1.0~45
VPD5X10-50ET6.C 1116 | 995 | 80 | 50 |0.9~45
= VPDB02ETIC 726 | 605 | 41 20 |16~49
< VPDSOAEBRIC| o | 856 | 735 | 54 | 30 [11~48| Now F;e‘fsecréo
% VPDBX20-L0ETEIC 986 | 865 | 67 | 40 |1.0~a5|orevaring| /o o
T VPDB0S0ETEIC 1116 | 995 | 80 | 50 |0.9~45 '
VPDBX30-20ET6.C 726 | 605 | 41 20 |156~49
VPDBGLIESBIC| 5 | 856 | 735 | 54 | 30 [1.1~48
VPD5E0ETIC 986 | 865 | 67 | 40 |1.0~45
VPDB0-S0ET6.C 1116 | 995 | 80 | 50 |0.9~45
VPDBX10-20ET6.C 726 | 605 | 41 20 |16~49
VPDBI0RETR| o |86 [ 735 | &4 | 30 [1.1~48
VPDBXI0-40ETE.C 986 | 865 | 67 | 40 |1.0~45
VPDBX10-50ET6.C 1116 | 995 | 80 | 50 |0.9~45
VPDB02ETIC 726 | 605 | 41 20 [156~49
VDBLIEERC| b0 | 856 | 735 | 4 30 |1.1~48 R;‘fseééo
VPDBX20-KETIC 986 | 865 | 67 | 40 |1.0~45 bt
VPDB20S0ETIC 1116 | 995 | 80 | 50 |0.9~45
VPDBXA0-20ET.C 726 | 605 | 41 20 |16~49
VPDBALIESBIC| 5 | 856 | 735 | 54 | 30 |1.1~48
VPDBX30-L0ETEIC 986 | 865 | 67 | 40 |1.0~45
VPDBXA0-S0ETE.C 1116 | 995 | 80 | 50 |0.9~45
VPDB0-2ETIC 726 | 605 | 41 20 |16~49
VPDBLESBIC| o | 856 | 735 | 54 | 30 [1.1~48
VPDB0LETIC 986 | 865 | 67 | 40 |1.0~45
VPDBX0-S0ET6.C 1116 | 995 | 80 50 |0.9~45 F;e‘fseééo
VPDBE0-20ETIC 726 | 605 | 41 20 |156~49 o
VPDBGLUESBIC| 5 | 856 | 735 | 54 | 30 [1.1~48
VPDB0-LETIC 986 | 865 | 67 | 40 |1.0~45
VPDB0S0ETEIC 1116 | 995 | 80 | 50 |0.9~45

% . [5] : Replaced with Pad rubber material code. Refer to page 820 for details.
3% . Bulkhead nut tightening torque : 4.5~6N-m




& Vacuum Pad Series
Vacuum Pad Long Stroke Series

(Y215 Spring type with Cover / Top port / Barb fitting /
Oval Pad
_ |
B =
L1 L2 x
11 s 24 3ls E ;
(Stroke) X8
SE
0*% d
Hex.12 Bl 2-Hex.17 Nutaxi
Unit : mm
S | VPC2-10EE6B 65.1 35 20 10 |33~100
3% VPG2x4-15E 168 2 4 75.1 40 25 15 |33~10.4
Sz VPC2-ERS 911 47 34 20 | 2.0~87
= \PC35¢-10EEKB 65.1 35 20 10 |33~100
l VPC35-15E68| 3.5 7 75.1 40 25 15 |33~10.4
VPC35x7-20E56B 911 47 34 20 | 2.0~87
VPC4x10-10E568 65.1 35 20 10 |33~100
VPCA0-15EE6B | 4 10 75.1 40 25 15 |33~10.4
VPC4x10-20E568 911 47 34 20 | 20~87
VPC4x20-10E568 65.1 35 20 10 |33~100 Refer to
VPCAx0-15EE68 | 4 20 75.1 40 25 15 |33~104 PISCO
VPC4x20-20E56B 911 47 34 20 | 2.0~87 website.
VPCA«30-10ET6B 65.1 35 20 10 |33~100
853 I AL 4 30 75.1 40 25 15 |33~104
VPC4x30-20E6B 911 47 34 20 | 2.0~87
VPC5x10-10EE568 65.1 35 20 10 |33~100
VPCsxI0-5EE68 | 5 10 75.1 40 25 15 |33~10.4
VPC5x10-20E568 911 47 34 20 | 2.0~87
VPC5x20-10EE6B 65.1 35 20 10 |33~100 Refer to
VPC5«20-15E68 5 20 75.1 40 25 15 |33~104] Now PISCO
preparing .
VPC5x20-20E 568 911 47 34 20 | 2.0~87 website.
VPC5430-10EE6B 65.1 35 20 10 |33~100
VPC5a0-5EB6B | 5 30 75.1 40 25 15 |33~10.4
VPC5+30-20E56B 911 47 34 20 | 2.0~87
VPCBx10-10EE6B 65.1 35 20 10 |33~100
VPCExi0-15E56B | 6 10 75.1 40 25 15 |33~104
VPC6x10-20E68 911 47 34 20 | 2.0~87
VPCBx20-10ET6B 65.1 35 20 10 |33~100 Refer to
VPCB20-5EBEB | 6 20 75.1 40 25 15 |33~10.4 PISCO
VPO6x20-20E568 911 47 34 20 | 2.0~87 website.
VPCB130-10EE6B 65.1 35 20 10 |33~100
VPCEx3-5E56B | 6 30 75.1 40 25 15 |33~104
VPCBx30-20E5 6B 911 47 34 20 | 2.0~87
VPC8x20-10EE6B 65.1 35 20 10 |33~100
m— \PCBQLSERRE | 20 75.1 40 25 15 |33~10.4
e e smor=me | Refer to
“% VPOBOD2EEE 911 47 34 20 | 2.0~87 s
VPC8430-10EE6B 65.1 35 20 10 |33~100 webete,
VPCOX3-5EE6B | 8 30 75.1 40 25 15 |33~10.4
VPC8¥30-20E 6B 911 47 34 20 | 2.0~87

% . (5] : Replaced with Pad rubber material code. Refer to page 820 for details.
3 . Bulkhead nut tightening torque : 4.5~6N-m

CAD) CAD data is available at PISCO website.



PISCO.

http://en.pisSc0.CO.jp

A4=L=)) Spring type without Cover / Top port / Barb fitting / Oval Pad  unit : mm

Q

CAD & VPC2(-20ETEC 682 | 49.1 20 |15~49
&5 VC2METRRC | , 812 | 621 30 |11~48
VPC240EDBC 942 | 751 40 |10~45
2 VPC2ASETREC 1072 | 881 50 |09~45
= VPC35-20ET6R0 682 | 491 20 |15~49
S VPCI5INERRC| . . 812 | 621 30 |11~48
VPC35740ED6BC| 942 | 751 40 |10~45
VPC35x7-50EB65C 1072 | 881 50 |0.9~45
VPCAxI0-20ETSBC 682 | 49.1 20 |16~49
VPOHMESERS| 0 812 | 621 30 |11~48 3
o6xo4 - VPCAOAEREEC 942 | 751 40 |10~45 5
(Tube 0.D. x D) | VPCixi0S0EEEBC 1072 | 881 50 |09~45 o
NZ|  VPCHan2EERRC 682 | 491 20 |156~49 =
VPCHQ0-30ETEBC 812 | 621 30 |11~48 Refer to
of < JPLAAERS |y 20 PISCO
i VPCAOETSBC 942 | 751 40 |10~45 .
— T website.
2 VPCx2050ETBC 1072 | 88.1 50 |0.9~45
1% VPoHa02EReRC 682 | 49.1 20 |15~49
o | | g%gg VOHALESERS| " 812 | 621 30 |11~48
o FEE VPCAG0-0ETISBC 942 | 751 40 |10~45
s —- VPCAGOS0ETISBC 1072 | 881 50 |09~45
:£= VPC5x10-20E[56BC 68.2 49.1 20 [15~49
~ VPCEOMESRRS| 0 812 | 621 30 |11~48
b - VPC5x10-40ET6BC 942 | 751 40 |10~45
VPC5X10-50ET6BC 1072 | 881 50 |0.9~45
\PC5X20-20ETEBC 682 | 49.1 20 |15~49
VRCHOMETRRC | 20 812 | 621 30 [11~48| Now Rpe‘fseé éo
\PC520-40ETEBC 942 | 751 40| 1.0~45]preparing| ' -
VPC5X20-S0ETSBC 1072 | 881 50 |09~45 '
VPC5X30-20ET6BC 682 | 491 20 |156~49
VPCHALMETERS| w0 812 | 621 30 |11~48
\PC5X3040ET6BC 942 | 751 40 |10~45
VPC5X30-S0ETEBC 1072 | 881 50 |09~45
\PCox10-20ET6BC 682 | 49.1 20 |15~49
VPCo0NEREC| 0 812 | 621 30 |11~48
VPCox10-40ETI6RC 942 | 751 40 |10~45
\PCB10-50ET6BC 1072 | 881 50 |0.9~45
VPCx20-20ET6BC 682 | 49.1 20 |15~49
VPOHAMETERS| 0 812 | 621 30 [1.1~48 R;‘;eééo
VPCox20-40ET6BC 942 | 751 40 |10~45 .
" website.
VPCBX20S0ET6BC 1072 | 881 50 |0.9~45
\PCox30-20ETEBC 682 | 49.1 20 |15~49
VOHALMETERS| 0 812 | 621 30 |11~48
\POBX30-0ET6BC 942 | 751 40 |10~45
VPCox30-S0ETSBC 1072 | 881 50 |09~45
VPCB020ET6BC 682 | 491 20 |15~49
VPCHAMETERS| . 812 | 621 30 [1.1~48
\PCB040ETSBC 942 | 751 40 |10~45
VPCEx2SOET6EC 1072 | 881 50 |09~45 Refer to
VPCBX30-20ET6BC 68.2 35 20 |15~49 Wpe‘igfe
CHALMESERC| 0 812 40 30 |11~48 '
\PCBX30-40ETSBC 942 | 751 40 |10~45
VPCBX30-S0ET6BC 1072 | 881 50 |0.9~45

% . [5] : Replaced with Pad rubber material code. Refer to page 820 for details.
3% . Bulkhead nut tightening torque : 4.5~6N-m




4 Vacuum Pad Series

Vacuum Pad Long Stroke Series

855

N
Long Stoke

Seres

D

Oval Pad
B
L1 L2
L1, S 2-4,
> (Stroke)
< H~ 2 2 Hex 17 \M14x1
06 X4
(Tube O.D. x1.D.) E

VPD2x4-10E56B 67.1 44 20 245 10 [33~100
VPD2x4-15E/56B 2 4 77.1 49 25 295 15 [33~104
VPD2x4-20E/516B 931 56 34 36.5 20 |2.0~87
VPD35x7-10E/E6B 67.1 44 20 245 10 [33~100
VPD35x7-15EE6B| 3.5 7 77.1 49 25 295 15 [33~104
VIPD3.5x7-20E516B 931 56 34 36.5 20 [2.0~87
VPD4x10-10ET)6B 67.1 44 20 245 10 [33~100
VPD4x10-15EE6B | 4 10 77.1 49 25 295 15 |33~104
VPD4x10-20E/516B 931 56 34 36.5 20 |2.0~87
VPD4x20-10ET)6B 67.1 44 20 245 10 [33~100
VPD4x20-15E56B | 4 20 77.1 49 25 295 15 [33~104
VPD4x20-20E/516B 931 56 34 36.5 20 [2.0~87
VPD4x30-10ET)6B 67.1 44 20 245 10 [33~100
VPD4x30-15E6B | 4 30 77.1 49 25 295 15 |33~104
VPD4x30-20E/516B 931 56 34 36.5 20 |2.0~87
VPD5x10-10EB)6B 67.1 44 20 245 10 [33~100
VPD5x10-15E56B| 5 10 771 49 25 295 15 [33~104
VPD5x10-20E5)6B 931 56 34 36.5 20 |20~87
VPD5x20-10E5)6B 67.1 44 20 245 10 [33~100
VPD5x20-15E56B| 5 20 771 49 25 295 15 |33~104
VPD5x20-20E/516B 931 56 34 36.5 20 |20~87
VPD5x30-10E5)6B 67.1 44 20 245 10 [33~100
VPD5x30-15E56B | 5 30 771 49 25 295 15 [33~104
VPD5x30-20E5)6B 931 56 34 36.5 20 |2.0~87
VPD6x10-10ET)6B 67.1 44 20 245 10 [33~100
VPDGx10-15E56B | 6 10 771 49 25 295 15 |33~104
VPDGx10-20E/516B 931 56 34 36.5 20 |2.0~87
VPD6x20-10E)6B 67.1 44 20 245 10 [33~100
VPDBx20-15E5KB | 6 20 771 49 25 295 15 [33~104
VPD6x20-20E5)6B 93.1 56 34 36.5 20 [20~87
VPD630-10E56B 67.1 44 20 245 10 [33~100
VPDGx30-15E56B | 6 30 77.1 49 25 295 15 |33~104
VPD6x30-20E/516B 93.1 56 34 36.5 20 |20~87
VPD8x20-10ET)6B 67.1 44 20 245 10 [33~100
VPD8x20-15E56B | 8 20 771 49 25 295 15 [33~104
VPDBx20-20E56B 93.1 56 34 36.5 20 |20~87
V/PD8x30-10ET)6B 67.1 44 20 245 10 [33~100
VPD8x30-15EK6B | 8 30 77.1 49 25 295 15 |33~104
VPD8x30-20E/516B 93.1 56 34 36.5 20 |20~87

Spring type with Cover / Side port / Barb fitting /

Now
preparing

2D & 3D

Unit : mm

Refer to
PISCO
website.

Refer to
PISCO
website.

Refer to
PISCO
website.

Refer to
PISCO
website.

% . [5] : Replaced with Pad rubber material code. Refer to page 820 for details.
% . Bulkhead nut tightening torque : 4.5~6N-m



PISCO.

http://en.pisSc0.CO.jp

A4=1=]) Spring type without Cover / Side port / Barb fitting / Oval Pad  unit : mm

RoHS compliant
VPD2x 20E56C 7226 | 605 | 41 20 |16~49
VPDRAOESERC | , | 858 | 715 | &4 | 30 [11~48
VPD2x-40ET6EC 986 | 865 | 67 | 40 |1.0~45
Z VPD2:bSIEEGBC 1116 | 995 | 80 | 50 |0.9~456
2 VPD35XT20ETERC 726 | 605 | 41 20 |15~49
VPDGTWEGRC| ., , 856 [ 735 | &4 | 30 [1.1~48
VPD35XT-HETERC| 986 | 865 | 67 | 40 |1.0~45
VPD35X7-S0ET6C 1116 | 995 | 80 | 50 |0.9~45
VPD4x1020EE68C 726 | 605 | 41 20 |16~49
VPDAIOEBERG| o | 856 [ 735 | &4 | 30 [1.1~48 3
VPD4x1040ET6BC 986 | 865 | 67 | 40 |1.0~45 -
VPD4xT0SOEG68C 1116 | 995 | 80 | 50 |0.9~45 B¢
VPD4x20-20E 680 726 | 605 | 41 20 |16~49 =
VDOOETRRC |, o | 886 | 735 | &4 30 [1.1~48 Rpe‘fseégo
VPD4x204IE 680 986 | 865 | 67 | 40 |1.0~45 ot
VPD4x20SOEE6BC 1116 | 995 | 80 | 50 |0.9~45
VPD4xa0-20EE68C 726 | 605 | 41 20 |16~49
VPDBGOEEERG| 5 | 856 | 735 | 54 | 30 [1.1~48
VPD4xa04IET6BC 986 | 865 | 67 | 40 |1.0~45
VD430 SOEE6BC 1116 | 995 | 80 | 50 |0.9~45
VPDE1020EE68C 726 | 605 | 41 20 |15~49
VPDSOEBRC| o |86 [ 735 | 61 | 30 [1.1~48
> | VPDGXI0-40EE6EC 986 | 865 | 67 | 40 |1.0~45
S| VPDBI0SETERC 1116 | 995 | 80 | 50 |0.9~45
:] 5 & | VPD5x0-20ET6RC 726 | 605 | 41 20 |16~49
v 17.1 ]| VPDSQONERRRC| 0 | 856 | 735 | 64 30 [1.1~48] Now F;e‘fsecréo
% 2| VPDsx0-40EEEC 986 | 865 | 67 | 40 |1.0~a5|orevaring| /o o
T 3| VPSQUSIERSE 1116 | 995 | 80 | 50 |0.9~45 '
w %1 VPD5x30-20EB6BC 726 | 605 | 41 20 |156~49
T =0 5 | 856 | 735 | 54 | 30 [1.1~48
VPDEXA4IE6BC 986 | 865 | 67 | 40 |1.0~45
VPDEX30SOEE6EC 1116 | 995 | 80 | 50 |0.9~45
VPDEx1020EG68C 726 | 605 | 41 20 |16~49
VPDBA0RETR| o |86 [ 735 | &4 | 30 [1.1~48
VPDEx1040EE6BC 986 | 865 | 67 | 40 |1.0~45
VPDExTOS0EG680 1116 | 995 | 80 | 50 |0.9~45
VPDEx20-20EE68C 726 | 605 | 41 20 [156~49
VPDBONEBERC| oo | 856 | 735 | 54 | 30 [1.1~48 R;‘fseééo
VPDEx2040ET6BC 986 | 865 | 67 | 40 |1.0~45 bt
VPDEx20SOEE68C 1116 | 995 | 80 | 50 |0.9~45
VPDEX30-20ET6BC 726 | 605 | 41 20 |16~49
VPDBOEBRG| 5 | 856 | 735 | 54 | 30 |1.1~48
VPDExA0-4IE6BC 986 | 865 | 67 | 40 |1.0~45
VPDEXa0S0ET68C 1116 | 995 | 80 | 50 |0.9~45
VPDEX20-20EE 680 726 | 605 | 41 20 |16~49
VPDBOEERG| o | 856 | 735 | 54 | 30 [1.1~48
VPDEx204EE6BC 986 | 865 | 67 | 40 |1.0~45
VPDEx20SOEE6EC 1116 | 995 | 80 | 50 |0.9~45 F;e‘fseééo
VPDEXa0-20ET68C 726 | 605 | 41 20 |156~49 o
VPDBGOWEEEC| 5 | 856 | 735 | 54 | 30 [1.1~48
VPDEXa04ET68C 986 | 865 | 67 | 40 |1.0~45
VPDEXA0SIEG68C 1116 | 995 | 80 | 50 |0.9~45

% . [5] : Replaced with Pad rubber material code. Refer to page 820 for details.
3% . Bulkhead nut tightening torque : 4.5~6N-m




II Vacuum Pad Series

. Vacuum Pad Long Stroke Series

1 ,Sprlng type with Cover / Top port / Push-in fitting /

Skldproof Pad

O®VPC10-[JKNH

@VPC20~50-[IKINH

Unit ©: mm
(67:\p)
file name

26
2
~
N [
= [N
L M14X1 - ‘ NM14x1
(] 4 |
v 3
« 2-H17
. 2-H17 o :
H | \\H
| I [ [lete
- 216 E ‘
Nlo|3 it
e ‘ H12
H12
- 1
i —'f f
od od
VPC10 J 64.6 30.5 20 10 20~52
VPC10-15K 10 74.6 8 365 25 15 20~59
VPC10-20K(5)6J 90.6 425 34 20 1.1~48
VPC20-10K(5l6J 68.1 34 20 10 3.3~10.0
857 VPC20-15K(5J6J 20 78.1 10 39 25 15 33~10.4
VPC20-20K(56J 94.1 46 34 20 2.0~87
VPC30-10K(5J6J 70.1 36 20 10 3.3~10.0
VPC30-15K(5J6J 30 80.1 12 41 25 15 33~10.4
VPC30-20K(5]6J 96.1 48 34 20 2.0~87
VPC40-10K(5l6J 74.1 40 20 10 3.3~10.0
VPC40-15K(5J6J 40 84.1 16 45 25 15 33~10.4
VPC40-20K(8)6J 100.1 52 34 20 2.0~87
VPC50-10K(5)6J 75.1 41 20 10 3.3~10.0
VPC50-15K(5J6J 50 85.1 17 46 25 15 33~104
VPC50-20K(5]6J 1011 53 34 20 2.0~87

Now
preparing

Refer to
PISCO
website.

% . (5] : Replaced with Pad rubber material code. Refer to page 820 for details.
% . Bulkhead nut tightening torque : 4.5~6N-m

N
Long Stoke
Seres

CAD)| CAD data is available at PISCO website.

20 & 30,



PISCO.

http://en.pisSc0.CO.jp

¢

.1=)) Spring type without Cover / Top port / Push-in fitting /
Skidproof Pad

RoHS compliant 26
=

(Stroke)

B
L2 9

<
8
og
<
Unit - mm
VPC20-20KE6.C 71.2 48.1 20 15~4.9
VPC20KERLC| 842 . 61.1 30 11~48
VPC20-40KE6.C 972 741 40 10~45
VPC20-50K56/C 1102 87.1 50 09~45 R;‘;eééo
VPC30-20KE6LC 732 50.1 20 16~49 weherte
VPC0BKERIC] 86.2 " 63.1 30 11~48
VPC30-40KE6.C 99.2 76.1 40 10~45
VPC30-50K6JC 1122 89.1 50 09~45 Now
VPC40-20KE6.C 772 54.1 20 15~49 | preparing
VPCAOAKERLC| 902 o 67.1 30 11~48
VPC40-40KE6JC 1032 80.1 40 10~45
VPC40-50K56JC 1162 93.1 50 09~45 R;‘;eég’
VPCS0-20K(EIC 782 55.1 20 15~49 e
VPCSOKERLC| 912 " 68.1 30 11~48
VPC50-40KE6.C 104.2 811 40 10~45
VPC50-50K56JC 172 94.1 50 09~45

% . (5] : Replaced with Pad rubber material code. Refer to page 820 for details.
% . Bulkhead nut tightening torque : 4.5~6N-m

CAD) CAD data is available at PISCO website.




II Vacuum Pad Series

. Vacuum Pad Long Stroke Series

1 ,Sprlng type with Cover / Side port / Push-in fitting /
Skldproof Pad

Now
preparing

Unit © mm

Refer to
PISCO
website.

®VPD10-[JKNH ®VPD20~50-[1KNH
M14X1
M14 X1 . !  ——
i e
z o-H17 [ 2-H17
H‘ o H\ ! "
sl |le
» g et w i g ‘ .
y |2 17 3= D
= | T
I| |
T20.1 <§ - 20.1
ﬂ led] H12/[ od
ES e
code (N) (g) |file name
63.1 2.0~52
10 731 8 45 25 30 15 2.0~59
VPD10-20K56J 89.1 52 34 37 20 [1.1~48
VPD20-10KE6J 66.1 43 20 245 10 |33~100
VPD20-15KE8J| 20 76.1 10 48 25 295 15 |33~104
VPD20-20K5)6 92.1 55 34 365 20 |2.0~87
BEE)  \/PD30-10K(E6 68.1 45 20 245 10 |33~100
VPD30-15KEl6J| 30 781 12 50 25 295 15 |33~104
VPD30-20K(E)6 94.1 57 34 365 20 |2.0~87
VPD40-10K56 72.1 49 20 245 10 |33~100
VPD40-15KEl6J| 40 82.1 16 54 25 295 15 |33~104
VPD40-20K5)6 98.1 61 34 365 20 |2.0~87
VPD50-10K5l6J 73.1 50 20 245 10 |33~100
VPD50-15KE8| 50 83.1 17 55 25 295 15 |33~104
VPD50-20K(5164 99.1 62 34 365 20 |2.0~87

% . (6] : Replaced with Pad rubber material code. Refer to page 820 for details.
% . Bulkhead nut tightening torque : 4.5~6N-m

N
Long Stoke
Seres

CAD] CAD data is available at PISCO website.

20 & 30



PISCO.

http://en.pisSc0.CO.jp

\4:1=)) Spring type without Cover / Side port / Push-in fitting / (GAD)
Skidproof Pad

‘
ROHS compliant M14 1
A
— ol <[] 2-H17
2

3

(Stroke)

L2

g <
r 25
A14/( od Unit - mm B
VPD20-20KZ6.C 21.7 59.6 41 20 | 156~49
VPD20SKEBIC| 84.7 " 726 54 30 | 11~48
VPD20-40K56/C 97.7 85.6 67 40 | 10~45
VPD20-50K56JC 110.7 98.6 80 50 0.9~45 R;;ecféo
VPD30-20KE6/C 73.7 616 41 20 | 16~49 webere
VPDSOSKERIC| 86.7 " 746 54 30 | 11~48
VPD30-40KEZ6.C 99.7 87.6 67 40 | 1.0~45
VPD30-50K56/C 112.7 100.6 80 50 | 09~45| Now
VPD40-20K6JC 77.7 65.6 41 20 | 15~49 | preparing
VPDAOSKERC| 90.7 5 78.6 54 30 | 11~48
VPD40-40KE6JC 1037 916 67 40 | 1.0~45
VPDA40-50KE6.C 1167 104.6 80 50 | 09~45 R;fsecféo
VPD50-20K56/C 78.7 66.6 41 20 | 156~49 webere
VPDSOSOKEBIC| 91.7 " 79.6 54 30 | 11~48
VPD50-40K56/C 104.7 926 67 40 | 1.0~45
VPD50-50K56/C 17.7 105.6 80 50 | 09~45

% . [5] : Replaced with Pad rubber material code. Refer to page 820 for details.
3. Bulkhead nut tightening torque : 4.5~6N-m

CAD) CAD data is available at PISCO website.




II Vacuum Pad Series

. Vacuum Pad Long Stroke Series

1 ,Sprlng type with Cover / Top port / Barb fitting /
Skldproof Pad

@®VPC10-[JKNH @®VPC20~50-JKNH
X
(Tube o%?:i E.A; (Tubs o'%('ix I'?;t
= N~
|
' rax ‘ L M14X1
3 vv 3 z' i
3 e 2-H17
: @ ¥
: \H‘ ; ‘H 216
S [let6 e
o | | N @ 3|1
e ; - L | H12
H12
O :f L
led] od
Model |Pad O.D. B L1 Lo L3 Stroke |Spring force| Weight
od (N) (9)
60.6 305 20 10 2.0~52
10 706 8 355 25 15 2.0~59
86.6 425 34 20 1.1~48
VPC20-10K(5l6B 64.1 34 20 10 |33~100
VPC20-15KB6B| 20 74.1 10 39 25 15 |33~10.4
VPC20-20K(56B 90.1 46 34 20 2.0~87
VPC30-10K(5)6B 66.1 36 20 10 |33~100
VPC30-15KE6B| 30 76.1 12 an 25 15 |33~10.4 Dre’“p‘;ﬁng
VPC30-20K(5J6B 92.1 48 34 20 2.0~87
VPC40-10K(5l6B 70.1 40 20 10 |33~100
40 80.1 16 45 25 15 |33~10.4
VPC40-20K(5J6B 96.1 52 34 20 2.0~87
VPC50-10K(5l6B 711 41 20 10 |33~100
VPC50-15KB6B| 50 81.1 17 46 25 15 |33~10.4
VPC50-20K(5J6B 97.1 53 34 20 2.0~87

Unit ©: mm
(67:\p)
file name

Refer to
PISCO
website.

% . [5] : Replaced with Pad rubber material code. Refer to page 820 for details.
% . Bulkhead nut tightening torque : 4.5~6N-m

N
Long Stoke
Seres

CAD] CAD data is available at PISCO website.

20 & 30



PISCO.

http://en.pisSc0.CO.jp

¢

[2T=)) Spring type without Cover / Top port / Barb fitting /  [CAD
Skidproof Pad

26 X04
(Tube O.D. x 1.D.)

ROHS compliant

N~
T
N M14X 1
2-H17
@ é%%
i FE
<
4 L
LAJ Unit - mm =
VPC20-20KZ6BC 67.2 48.1 20 15~49
VPC20GOKEBC| 80.2 ” 61.1 30 11~48
VPC20-40K5I6BC 932 741 40 10~45
VPC20-50KE16BC 1062 87.1 50 09~45 Re‘geééo
VPC30-20KE6BC 69.2 50.1 20 16~49 WP ey
VPC0GOKEBC| 822 " 63.1 30 11~48
VPC30-40KZ6BC 962 76.1 40 10~45
VPC30-50KE6BC 108.2 89.1 50 09~45 Now
VPC40-20K[56BC 732 54.1 20 16~49 | preparing
VPCAOGOKEBC| 86.2 o 67.1 30 11~48
VPC40-40KE6BC 992 80.1 40 10~45
VPC40-50K(E16BC 1122 93.1 50 09~45 R;‘;eééo
VPC50-20KZ6BC 742 55.1 20 16~49 e
VPCS0GOKERBC| 87.2 " 68.1 30 11~48
VPC50-40KZ6BC 1002 811 40 10~45
VPC50-50KZ6BC 132 94.1 50 09~45

% [5) : Replaced with Pad rubber material code. Refer to page 820 for details.
% . Bulkhead nut tightening torque : 4.5~6N-m

CAD) CAD data is available at PISCO website.




II Vacuum Pad Series

. Vacuum Pad Long Stroke Series

1 ,Sprlng type with Cover / Side port / Barb fitting /
Skidproof Pad

O®VPD10-LJKNH

ROHS compliant

VACUUM
PAD

Model Pad O D.
code

‘ M14X1
| Mi14x1
P |
- <! |
Ry 2-H17
| ‘
+ | 016
n|? ‘ Ly
ol |2
- ‘ 7
I |
H12/ <~
Slia}
o 116.1 <5
od o2
2
2

@VPD20~50-[IKNH

‘ M14X1
 M14x1
™ |
=l g |
& 2-H17
| ‘
= | 216
%1 w
52| 2
|
R
A
| B s
O | é;
s|d
Hi2 16.1 =
od §

63.1 2.0~52

10 73.1 8 45 25 30 15 20~59

VPD10-20K)6B 89.1 52 34 37 20 1.1~438
VPD20-10K[516B 66.1 43 20 24.5 10 |3.3~10.0
fsfek)  VPD20-15K(56B 20 76.1 10 48 25 29.5 15 |3.3~104
VPD20-20K(56B 92.1 55 34 36.5 20 2.0~87
VPD30-10K(516B 68.1 45 20 24.5 10 |3.3~100
VPD30-15K(66B| 30 78.1 12 50 25 295 15 133~104
VPD30-20K(56B 94.1 57 34 36.5 20 2.0~87
VPD40-10K(516B 72.1 49 20 24.5 10  |3.3~10.0
VPD40-15K5J6B 40 82.1 16 54 25 29.5 15 |3.3~104
VPD40-20K(56B 98.1 61 34 36.5 20 2.0~87
VPD50-10K(516B 73.1 50 20 24.5 10  |3.3~100
VPD50-15K5J6B 50 83.1 17 55 25 295 15 |33~104
VPD50-20K(56B 99.1 62 34 36.5 20 2.0~87

Now
preparing

Unit : mm

Stroke Spring force| Weight | CAD
(N) (9) [file name

Refer to
PISCO
website.

% . (5] : Replaced with Pad rubber material code. Refer to page 820 for details.
% . Bulkhead nut tightening torque : 4.5~6N-m

N
Long Stoke
Seres

CAD] CAD data is available at PISCO website.

20 & 30



PISCO.

http://en.pisSc0.CO.jp

,Sprmg type without Cover / Side port / Barb fitting / [CAD
Skidproof Pad
RoHS compliant M14X 1

o+ L] 2H17

PN

2

g <
;
o O¢c
§ <
= Unit : mm

VPD20-20K516BC 7.9 59.6 41 20 15~4.9

VPD20S0KEEBC| 84.7 0 726 54 30 11~48

VPD20-40KE16BC 97.7 85.6 67 40 10~45

VPD20-50K(56BC 1107 986 80 50 | 09~45 R;;eééo

VPD30-20K56BC 73.9 616 41 20 15~49 webaite,

VPDSOS0KEGBC| 36.7 . 746 54 30 11~48

VPD30-40K(5/6BC 99.7 876 67 40 1.0~45

VPD30-50K56BC 1127 100.6 80 50 | 09~45| Now

VPDA40-20K56BC 779 65.6 4 20 15~49 | preparing

VPD40-30KEEBC| 90.7 . 786 54 30 11~48

VPDA40-40K5I6BC 103.7 916 67 40 1.0~45

VPD40-50K(E16BC 11627 104.6 80 50 09~45 Refer to

VPD50-20K5/6BC 78.7 66.6 41 20 15~4.9 WP e‘is?e

VPDSOS0KEEBC| 917 - 796 54 30 11~48

VPD50-40K56BC 104.7 926 67 40 1.0~45

VPD50-50K5/6BC 17.7 105.6 80 50 | 09~45

% . (5] : Replaced with Pad rubber material code. Refer to page 820 for details.
3 . Bulkhead nut tightening torque : 4.5~6N-m

CAD) CAD data is available at PISCO website.




II Vacuum Pad Series

. Vacuum Pad Long Stroke Series

VACUUM
PAD

865

N
Long Stoke
Seres

)

Flat Pad
@ ®VPC10~15-[IF] @®VPC20~30-[JF[]
26
26
Il ~
N o=
AR (LN
| LI
‘ N M14 X1
‘ NM14X1 I~ ‘
) | =<7
A
z‘ o 2-Hex.17
2-Hex.17 - : u“l
‘ \H‘ I ‘ﬂ16
I Bt
5 , 216 w|e
N o2
o ole - Hex.12
— [ qHex.12 I
< 3 | [ Hex. 17
p Hex 10 - \

Spring type with Cover / Top port / Push-in fitting /

Unit © mm

Model Pad OD Stroke Spring force| Weight
code (N) (9) f||e name

'VPC10-10F(6)6J | 33.9 2.0~562
VPC10-15F(8l6J 10 '78 38.9 25 15 2.0~569
VPC10-20F(5)6J 94 45.9 34 20 1.1~438
VPC15-10F(GJ6J 68 389 20 10 3:83=10:0
VPC15-15F(5)6J 15 78 38.9 25 15 33~104
VPC15-20F(5)6J 94 459 34 20 2.0~87
VPC20-10F(5l6J 72.5 38.4 20 10 3.3~10.0
VPC20-15F(5)6J 20 825 43.4 25 156 33~104
VPC20-20F(5)6J 98.5 50.4 34 20 2.0~87
VPC25-10F(8l6J 72.5 38.4 20 10 3181010
VPC25-15F(5l6J 25 825 43.4 25 156 33~104
VPC25-20F(5)6J 98.6 50.4 34 20 2.0~87
VPC30-10F(5l6J 72.5 38.4 20 10 3.3~10.0
VPC30-15F(5l6J 30 825 43.4 25 15 33~104
VPC30-20F(5)6J 98.5 50.4 34 20 2.0~87

Now
preparing

% . (6] : Replaced with Pad rubber material code.

% . Bulkhead nut tightening torque : 4.5~6N-m

Refer to page 820 for details.




PISCO.

http://en.pisSc0.CO.jp

\4=L=)) Spring type without Cover / Top port / Push-in fitting /
F

lat Pad
@ =
LN M14X 1
| <
2-Hex.17
@ E%E
'y 2 Fr
BEEE:
e 5
;,- | Hex. 17 E(é
od
Unit © mm
VPC20-20F(5)6JC 75.6 52.5 20 156~4.9
VPC20-30F5)6JC 20 88.6 65.5 30 1.1~48
VPC20-40F56JC 101.6 785 40 1.0~45
VPC20-50F(5)6JC 114.6 915 50 09~45
VPC25-20F(56JC 75.6 52.5 20 16~49
VPC25-30F56JC 25 88.6 65.5 30 1.1~48 Now _
VPC25-40F56JC 101.6 78.5 40 1.0~45 preparing
VPC25-50F(56JC 114.6 915 50 09~45
VPC30-20F56JC 75.6 52.5 20 1.6~49
VPC30-30F(56JC 30 88.6 65.5 30 1.1~48
VPC30-40F56JC 101.6 78.5 40 1.0~45
VPC30-50F56JC 114.6 91.5 50 09~45

% . (5] : Replaced with Pad rubber material code. Refer to page 820 for details.
% . Bulkhead nut tightening torque : 4.5~6N-m




II Vacuum Pad Series

. Vacuum Pad Long Stroke Series

1 ’Sprlng type with Cover / Side port / Push-in fitting /

Flat Pad
@®VPD10~15-IF] @®VPD20~30-LIF]
@ —
= || et
M14X1
\ M14X 1
b |
o ‘ ﬁ <! ‘
=g o 2-Hex.17
N 2-Hex.17
;
;
‘ o “h ‘
o |
’a‘ | 516 ® g | 016 w
0§ ‘ w g ‘ 17
= 2 -
gg - 11.7 i ]
5 g5it i =
f ©
| % —=—=—20.1| ®
< 201 ® 3 [ [\ Hex. 17
= A‘ Hex. 10 - \
Hex. 12/ Hex.12
Model Pad O D.
code
VPD10-10F(5)6J 2.0~52
'VPD10-15F6J| 10 ’76 5 48 4 25 30 15 2.0~59
VPD10-20F(5)6J 925 55.4 34 37 20 1.1~48
VPD15-10F(5)6J 66.5 434 20 245 10 33~100
Yoyd VPD15-15F(E6) 15 76.5 484 25 295 15 33~104
VPD15-20F[5)6J 925 55.4 34 36.5 20 2.0~8.7
VPD20-10F(5)6J 70.5 474 20 245 10 33~10.0
VPD20-15FBl6J| 20 80.5 52.4 25 295 15 33~104
VPD20-20F(5)6J 96.5 59.4 34 36.5 20 2.0~8.7
VPD25-10F(5)6J 70.5 474 20 245 10 33~10.0
VPD25-15FBl6J| 25 80.5 52.4 25 295 15 33~104
VPD25-20F[5)6J 96.5 59.4 34 36.5 20 2.0~8.7
VPD30-10F(5)6J 70.5 47.4 20 245 10 33~10.0
VPD30-15F56J| 30 80.5 52.4 25 295 15 33~104
VPD30-20F[5l6J 96.5 59.4 34 36.5 20 2.0~8.7

Now
preparing

Unit : mm

Stroke Spring force| Weight
(N) (9) flle ENE]

% . (5] : Replaced with Pad rubber material code. Refer to page 820 for details.

% . Bulkhead nut tightening torque : 4.5~6N-m

N
Long Stoke
Seres




PISCO.

http://en.pisSc0.CO.jp

\4zl=]) Spring type without Cover / Side port / Push-in fitting /
F

lat Pad

M14 X1

i

o |8
-
21.1)S s
;E ‘ Hex. 17 g(é
Hex.14 od Unit : mm =
VPD20-20F8)6JC 76.1 64 41 20 1.6~49
VPD20-30F56JC 20 89.1 77 54 30 1.1~438
VPD20-40F56JC 102.1 90 67 40 1.0~45
VPD20-50F8)6JC 11561 103 80 50 09~45
VPD25-20F56JC 76.1 64 41 20 15~4.9
VPD25-30F5)6JC 05 89.1 77 54 30 1.1~48 Now -~
VPD25-40F516JC 102.1 90 67 40 1.0~45 preparing
VPD25-50F56JC 11561 103 80 50 0.9~45
VPD30-20F5)6JC 76.1 64 41 20 15~4.9
VPD30-30F8)6JC 30 89.1 77 54 30 1.1~48
VPD30-40F5/6JC 102.1 90 67 40 1.0~45
VPD30-50F5)6JC 115.1 103 80 50 0.9~45

% . (5] : Replaced with Pad rubber material code. Refer to page 820 for details.
3 . Bulkhead nut tightening torque : 4.5~6N-m




II Vacuum Pad Series

. Vacuum Pad Long Stroke Series
1, Spring type with Cover / Top port / Barb fitting / Flat Pad

ROHS compliant

Unit : mm
CAD

file name

®VPC10~15-00F @®VPC20~30-0JF]
@ 06X g4
06X g4 (Tube O.D. x 1.D.)
~
| ‘ NM14 X1
‘ NM14 X1 ~ ‘
N g jhe=
QCETD o-Hex.17 2-Hex17
23] o |
I | \H
| \H‘ 1T 1 1lets
o | [ let6 o ;g ;
578 | ! =R Hex.12
‘ Hex.12
< Hex. 10 < Hex. 17
=R :
od o0
64 33.9 20 10 2.0~52
10 74 389 25 15 2.0~59
90 459 34 20 1.1~48
869 64 339 20 10 3.3~10:0
15 74 389 25 15 3.3~10.4
VPC15-20F(5/6B 90 45.9 34 20 2.0~8."7
VPC20-10F(5)6B 68.5 384 20 10 3.3~10.0
VPC20-15F(5/6B 20 78.5 43.4 25 15 3.3~10.4
VPC20-20F(5/6B 945 50.4 34 20 2.0~8."7
VPC25-10F(5)6B 68.5 384 20 10 3.3~10.0
25 78.5 434 25 15 33~10.4
VPC25-20F(5/6B 945 50.4 34 20 2.0~8."7
VPC30-10F(5)6B 68.5 384 20 10 3.3~10.0
VPC30-15F(5/6B 30 78.5 43.4 25 15 3.3~10.4
VPC30-20F(5/6B 945 50.4 34 20 2.0~8.7

Now
preparing

% . (5] : Replaced with Pad rubber material code.

% . Bulkhead nut tightening torque : 4.5~6N-m

N
Long Stoke
Seres

Refer to page 820 for details.




PISCO.

http://en.pisSc0.CO.jp

3

=T=]) Spring type without Cover / Top port / Barb fitting /
F

lat Pad
06 X o4
@ (Tube O.D. x I.D.)
)
! LLIM14 %1
2-Hex.17
- ,%
-|?e F=£
<
G B
30
3L 1Y Hex. 17 &s
~ ‘ 2
od Unit : mm
VPC20-20F(516BC 71.6 52.5 20 15~49
VPC20-30F216BC 20 84.6 65.5 30 1.1~48
VPC20-40F(516BC 97.6 78.5 40 1.0~45
VPC20-50F(516BC 110.6 915 50 09~45
VPC25-20F(216BC 71.6 52.5 20 1.6~49
VPC25-30F(216BC 25 84.6 65.5 30 1.1~48 Now _
VPC25-40F(516BC 97.6 78.5 40 1.0~45 preparing
VPC25-50F(516BC 110.6 91.5 50 0.9~45
VPC30-20F(516BC 71.6 52.5 20 15~49
VPC30-30F(516BC 30 84.6 65.5 30 1.1~48
VPC30-40F[216BC 97.6 78.5 40 1.0~45
VPC30-50F(516BC 110.6 915 50 09~45

% . (5] : Replaced with Pad rubber material code. Refer to page 820 for details.
% . Bulkhead nut tightening torque : 4.5~6N-m




II Vacuum Pad Series

. Vacuum Pad Long Stroke Series
1, Spring type with Cover / Side port / Barb fitting / Flat Pad

ROHS compliant

D@

®VPD10~15-JF]

———mm
‘ M14X1
| M14>1
|
9 |
g
& 2-Hex.17
. |
Ll " []et6
) ‘ w
Hex.12
hr 7
'Y
J =
- 16122
- 8la
Hex. 10/|. od E
S
£

®VPD20~30-LIF[]

L2

L1

M14 X1
JlliiEau

2-Hex.17

S
(Stroke)

216

Hex.12

16.1

26X g4 J

<
<
-

Hex.

J

(Tube O.D. x I.D.)

Model |Pad O.D. L1 Lo Stroke
code od S
- B 66.5 43.4 20 25 10

Unit : mm

Spring force| Weight CAD
(N) (9) |[file name

VPD10-1 20~52
10 76.5 48.4 25 30 15 2.0~59

- 925 55.4 34 37 20 1.1~48
VPD15-10F(5)6B 66.5 43.4 20 245 10 3.3~10.0
VPD15-15F(5)6B 15 76.5 48.4 25 29.5 15 33~104
VPD15-20F(516B 925 55.4 34 36.5 20 20~87
VPD20-10F(5)6B 70.5 47.4 20 24.5 10 3.3~10.0
VPD20-15F(5)6B 20 80.5 52.4 25 29.5 15 3.3~104
VPD20-20F(5]6B 96.5 59.4 34 36.5 20 2.0~87
VPD25-10F(5)6B 70.5 47.4 20 245 10 3.3~10.0
25 80.5 52.4 25 29.5 15 3.3~104

VPD25-20F(516B 96le 59.4 34 36.5 20 20~87
VPD30-10F(5)6B 70.5 47.4 20 24.5 10 3.3~10.0
VPD30-15F(5)6B 30 80.5 52.4 25 29.5 15 3.3~104
VPD30-20F(56B 96.5 59.4 34 36.5 20 20~87

Now
preparing

% . [5] : Replaced with Pad rubber material code. Refer to page 820 for details.
% . Bulkhead nut tightening torque : 4.5~6N-m

N
Long Stoke
Seres




PISCO.

http://en.pisSc0.CO.jp

\4=1=]) Spring type without Cover / Side port / Barb fitting /
F

lat Pad
M14 X1
@ o LT 2-Hex 17
&5
-
g w
m |?g
4 | _ |Hex.14
7
]
L NE <
EjAma
b \ S oS
Hex. 17 od § £
= Unit : mm
VPD20-20F56BC 46.1 64 41 20 15~4.9
VPD20-30F216BC 20 89.1 77 54 30 1.1~48
VPD20-40F(516BC 1021 90 67 40 1.0~45
VPD20-50F(216BC 115.1 103 80 50 0.9~45
VPD25-20F(216BC 46.1 64 41 20 1.656~49
VPD25-30F(516BC o5 89.1 77 54 30 1.1~4.8 Now _
VPD25-40F[216BC 102.1 90 67 40 1.0~45 | preparing
VPD25-50F(216BC 11561 103 80 50 0.9~45
VPD30-20F516BC 46.1 64 41 20 1.5~4.9
VPD30-30F216BC 30 89.1 77 54 30 1.1~4.38
VPD30-40F216BC 102.1 90 67 40 1.0~45
VPD30-50F(516BC 1161 103 80 50 0.9~45

% . [5] : Replaced with Pad rubber material code. Refer to page 820 for details.
3. Bulkhead nut tightening torque : 4.5~6N-m




II Vacuum Pad Series

. Vacuum Pad Long Stroke Series

vPC \4=L=)) Spring type with Cover / Top port / Push-in fitting / CAD)
Mark free Pad

®VPC10-JQ] @®VPC20. 30-1JQl]
2 28
i (N v':
= L]
‘ L M14X1 ‘ N M14X1
a < | 3 <! !
Q [
2-Hex. 17 2-Hex. 17
o 23] T
I T
| | | ||
_ ‘ 016 < ‘ 016
$ o |1
o %) £ | 8“8 ‘
‘ Hex. 12 == Hex. 12
£E3 M4 X 0.7 — M6 X 1
: —iT : - i
Hex. 12/ | gd g Hex.12/| od ;ﬁ
Unit © mm
Model |Pad O D. Stroke Spring force| Weight
code (N) (g) flle name
70.6 36.5 20~b2
10 80.6 14 415 25 15 2.0~59 47
VPC10-20Q5)6J 96.6 48.5 34 20 1.1~4.38 54.5
GBI  \pc2o-10056 72 37.9 20 10 |33~100] 46 Refer 1o
VPC20-15Q516J 20 82 13.9 42.9 25 15 3.3~104 51 PISCO
VPC20-20Q5)6J 98 49.9 34 20 2.0~87 575 website.
VPC30-10Q5)6J 72 379 20 10 3.3~10.0 50
VPC30-15Q5)6J 30 82 13.9 42.9 25 15 3.3~104 55
VPC30-20Q5)6J 98 49.9 34 20 2.0~87 61.5

% . (6] : Replaced with Pad rubber material code. Refer to page 820 for details.
% . Bulkhead nut tightening torque : 4.5~6N-m

N
Long Stoke
Seres

CAD| CAD data is available at PISCO website.



PISCO.

http://en.pisSc0.CO.jp

\Z=[=)) Spring type without Cover / Top port / Push-in fitting /
Mark-free Pad

ROHS compliant

| |
Ly
Y M14Xx 1
o <
* 2-Hex. 17
—
om

ol 9 E
= E
<
8
— i Ug
<
Hex. 12
Unit © mm
VPC20-200516C 5.1 52 20 15~49 535
VPC2O0QBBIC| 881 i 65 30 11~48 585
VPC20-400564C 101.1 ' 78 40 10~45 64
VPC20-50Q516.C 141 o1 50 09~45 69 Ff‘fseééo
VPC30-200516C 75.1 52 20 16~49 575 wehere
VPC30-300516C 88.1 65 30 11~48 625
TRAIMIBE | 3y 139
VPC3040056C 1011 78 40 10~45 68
VPC30-500516C 114.1 o1 50 09~45 73

% . (5] : Replaced with Pad rubber material code. Refer to page 820 for details.
% . Bulkhead nut tightening torque : 4.5~6N-m

CAD| CAD data is available at PISCO website.

20 & 30




II Vacuum Pad Series

. Vacuum Pad Long Stroke Series

== \4zl=]) Spring type with Cover / Side port / Push-in fitting /
Mark free Pad

®VPD10-JQ] ®VPD20. 30-1JQ]
M14X1 L] m1axi
Faa— S
|
™ ] |
= g1 <!
«Q 2-Hex. 17 [ 2-Hex. 17
@ I
| 216
u)§ w
[23
= g 11.7
(a] | =M
ég Hex. 12 fo i — %
> 71201 %®
b =
Hex. 12/ /| 2
M4X0.7 =
Unit © mm
Model PadOD Stroke Spring force| Weight | CAD
code (N) (g) file name
VPD101OQl6J 20~52
VPD10-15Q(516J 10 79.1 14 51 25 30 15 2.0~59 61.5
VPD10-20Q5)6J 95.1 58 34 37 20 1.1~48 72
VPD20-10Q[5)6 70 46.9 20 245 10 [33~100] 59 | Referto
Y45y VPD20-15Q5l6J 20 80 13.9 51.9 25 29.5 15 33~104| 655 PISCO
VPD20-20Q516J 96 58.9 34 36.5 20 |20~87| 755 |website.
VPD30-10Q5)6J 70 46.9 20 245 10 |33~100| 63
VPD30-15Q5)6J 30 80 13.9 51.9 25 295 15 33~104| 695
VPD30-20Q5)6J 96 58.9 34 36.5 20 20~8.7| 795

% . [5] : Replaced with Pad rubber material code. Refer to page 820 for details.
% . Bulkhead nut tightening torque : 4.5~6N-m

N
Long Stoke
Seres

CAD| CAD data is available at PISCO website.



PISCO.

http://en.pisSc0.CO.jp

\Zz1=)) Spring type without Cover / Side port / Push-in fitting /
Mark-free Pad

M14X1
A
o) <[l 2-Hex. 17

q&mm
B
L2
L1 S
N ‘ ‘ (Stroke)
}
|
NI =z
: 2g
BN ] .
26| =

<
25
==T |—|% O¢c
MG X1 Unit : mm
VPD20-20QE16.C 75.6 63.5 41 20 15~49| 735
VPD20-300TBIC| 88.6 159 76.5 54 30 1.1~48] 805
VPD20-4000516.C 101.6 i 89.5 67 40 1.0~45 87
VPD20-50Q56JC 114.6 1025 80 50 0.9~45 9 Rpe‘;ecféo
VPD30-200E16.C 75.6 63.5 4 20 16~49 [ 775 | s
VPDR0-30QTRIC| 88.6 . 76.5 54 30 1.1~48| 845
VPD30-40QE16.C 101.6 ‘ 89.5 67 40 1.0~45 91
VPD30-5000516.C 114.6 1025 80 50 0.9~45 08

% . (5] : Replaced with Pad rubber material code. Refer to page 820 for details.
% . Bulkhead nut tightening torque : 4.5~6N-m

CAD) CAD data is available at PISCO website.




II Vacuum Pad Series

. Vacuum Pad Long Stroke Series

vPC \4=L=)) Spring type with Cover / Top port / Barb fitting / CAD)
Mark free Pad
®VPC10-1a] @®VPC20. 30-JQ0
26X 04 __ 06Xo4
(Tube 0.0.x1.0)] | (Tube O.D. x 1.D.)
~ N~
M1451 ‘ \M14 1
™ ‘ «©
g i = <! i
« 2-Hex. 17 “ 2-Hex. 17
m T o0 I
! \\“ -
T 1lets A } 016
q it 1 9 ?8 |
L | Hex. 12 |L Hex. 12
= Maxo07 — Y M6 X 1
b L hr -1
Hex 12/ [ o | |2 Hex 12/ og | |2
Unit : mm
Model |Pad O D. Stroke Spring force| Weight
code (N) (g) flle name
66.6 365 20~52
10 76.6 14 415 25 15 20~59 45
926 485 34 20 | 11~48] 525
877 IR ) 68 37.9 20 10 |33~100] 44 Refer 1o
VPC20-15Q86B| 20 78 13.9 429 25 15 |33~104| 49 PISCO
VPC20-20Q(5)6B 94 49.9 34 20 20~87 | 565 | website.
VPC30-10Q5)68 68 379 20 10 |33~100| 48
30 78 139 429 25 15 |33~104] 53
VPC30-20Q516B 94 499 34 20 |20~87] 595

% . (6] : Replaced with Pad rubber material code. Refer to page 820 for details.
% . Bulkhead nut tightening torque : 4.5~6N-m

N
Long Stoke
Seres

CAD| CAD data is available at PISCO website.



PISCO.

http://en.pisSc0.CO.jp

2D & 30,

\4=L=)) Spring type without Cover / Top port / Barb fitting /  [CAD
Mark-free Pad

<
o2

Q
P
Oc
<

(Stroke)

Unit - mm

VPC20-200/568C 711 52 20 16~49 | 515

VPC2030QEBC| 84.1 i 65 30 11~48 | 565

VPC20-400E16BC 97.1 ' 78 40 10~45 | 615

VPC20-50Q/516BC 110.1 o1 50 09~45 67 Rpe‘fseééo
VPC30-2006BC CZR] 52 20 16~49 | 665 weherte
VPO330E6B0] 84.1 1 65 30 11~48 | 605

VPC30-40Q(E16BC 97.1 : 78 40 10~45 | 655

VPC30-50056BC 110.1 91 50 09~45 71

: Replaced with Pad rubber material code. Refer to page 820 for details.
3. Bulkhead nut tightening torque : 4.5~6N-m

CAD) CAD data is available at PISCO website.




II Vacuum Pad Series

. Vacuum Pad Long Stroke Series

vPD \4=l=]) Spring type with Cover / Side port / Barb fitting / CAD)
Mark free Pad

®VPD10-JQ] ®VPD20. 30-1Ja]
‘ M14X1 ‘ M14X1
O K
| |
9<,.v | gv' |
& 2-Hex. 17 & 2-Hex. 17
o | ‘ @ | ‘
% | 016 gl 016
o2 ‘ - oL ‘ Hex. 1’
3 Hex. 12 [ -
s 9 7 7
32 ! = ‘
(SIS i~ ~
s E\E 16.12(2 2
O ol X N
777‘-%‘ &CQ)_ 8
Hex. 12/ /| & g g 2
M4 0.7 RS g
Unit : mm
Model PadOD Stroke Spring force| Weight | CAD
code (N) (g) file name
'VPD10-10Q(5)6B | 69.1 20~52
VPD10-15Q56B| 10 79.1 14 51 25 30 15 20~59 59.5
VPD10-20Q[56B 95.1 58 34 37 20 |11~48| 70
VPD20-10Q[516B 70 469 20 245 10 |33~100| 57 Refer to
tSyge) \VPD20-15Q056B| 20 80 13.9 51.9 25 295 15  |33~104| 635 PISCO
VPD20-20Q(516B 96 58.9 34 36.5 20 |20~87| 735 |website.
VPD30-10Q(5/6B 70 46.9 20 245 10 |33~100] 61
30 80 13.9 51.9 25 295 15 |33~104| 675
VPD30-20Q(5/6B 96 58.9 34 36.5 20 |2.0~87| 775

% . [5] : Replaced with Pad rubber material code. Refer to page 820 for details.
% . Bulkhead nut tightening torque : 4.5~6N-m

N
Long Stoke
Seres

CAD| CAD data is available at PISCO website.



PISCO.

http://en.pisSc0.CO.jp

\4=l=]) Spring type without Cover / Side port / Barb fitting /  [CAD

Mark-free Pad

M14 X1

o <[] 2-Hex. 17

CRpusbbsit 11
J‘.
B
L2
S
(Stroke)
R\ Y
T
TETVUY
E

== Hex. 14
— 7
‘ : NE <
X | % >
i r % Q4 25
=11z %o O¢c
M6 X1 = .
Unit : mm
VPD20-200568C 75.6 63.5 41 20 16~49| 715
VPD20-30Q5EC| 88.6 . 765 54 30 11~48| 785
VPD20-40Q5168C 1016 : 89.5 67 40 1.0~45 85
VPD20-50Q/56BC 114.6 1025 80 50 09~45 92 R;;eééo
VPD30-200E/6BC 756 63.5 4 20 16~49] 765 | oo
VPD30-300B6BC| 88.6 . 765 54 30 11~48| 825
VPD30-40066BC 1016 i 89.5 67 40 1.0~45 89
VPD30-50QE6BC 1146 1025 80 50 09~45 9%

% . (5] : Replaced with Pad rubber material code. Refer to page 820 for details.
3 . Bulkhead nut tightening torque : 4.5~6N-m

CAD) CAD data is available at PISCO website.




o4mm
@®Pad dia. : g6mm. @g8mm

N
Long Stoke

Seres

II Vacuum Pad Series
. Vacuum Pad Long Stroke Series

Bl Construction

@®Pad dia. : g4mm

POC4-M5M

VACUUM
PAD

VPC

VPD VPC VPD
Push-in fitting Push-in fitting Barb fitting Barb fitting
Vacuum Pad
Pad Model code| Pad dia.

VP 4R[]

u Pad insertion part

POC4-M5M

VPC
Push-in fitting

Push-in fitting

Barb fitting Barb fitting
[
Vacuum Pad Vacuum Pad
Pad Model code| Pad dia. Pad Model code| Pad dia.
VP 6RLJ o6mm VP 6BL] o6mm
VP 8RLJ 28mm VP 8BL] 28mm

@ Pad insertion part




PISCO.

http://en.pisSc0.CO.jp

@®Pad dia. : 610mm.g15mm
POC6-M6M

VPC VPD
Push-in fitting Push-in fitting <
with cover with cover ug
S
LC-0640-M6 °<

VPC VPD
Barb fitting Barb fitting
with cover with cover

(Option)

% @ Adaptor
Adaptor Model code| Pad dia.

Fall prevention valve

Free holder ; FVPLF15-M4 |910, 915mm
Vacuum Pad
Pad Model code| Pad dia. Vacuum Pad .
VP 10F] 210mm Pad Model code| Pad dia.
Vacuum filter pad direct mounting type VP15FL] | o15mm VP 10Q[] 210mm

e

Vacuum Pad Vacuum Pad Vacuum Pad
Pad Model code| Pad dia. Pad Model code| Pad dia. Pad Model code| Pad dia.
VP 10R[] g

210mm VP 10B[] 210mm VP 10KNH 210mm
VP 15R[] o15mm VP 15B[] o15mm Pad screw
Pad screw Pad screw Pad screw Model code| Pad dia.
Pad screw Model code| Pad dia. Pad screw Model code| Pad dia. VPM 46-6 210mm
VPM 46-6 m VPM 46-6 o10mm

215mm o15mm




II Vacuum Pad Series

. Vacuum Pad Long Stroke Series

VACUUM
PAD

883

Bl Construction

@Pad dia. : g20mm. g25mm. g30mm. g35mm, g40mm, g50mm

POC6-M6M

VPC
Push-in fitting
with cover

POC6-M6M
PC6-M6M
VPD VPC VPD
Push-in fitting Push-in fitting Push-in fitting
with cover without cover without cover

LC-0640-M6

(«

(1

(T

LC-0640-M6
\—7
VPC VPD VPC VPD
Barb fitting Barb fitting Barb fitting Barb fitting
with cover with cover without cover without cover
Adaptor
Adaptor Model code| Pad dia.
FVPLF30-M6 {020, 025, 630mm
Flat Pad
Pad Model code| Pad dia.
VP 20F[] 220mm
VP 25F[] 225mm
VP 30F[] 230mm
Plain washer é/ Gasket @/ Plain washer
Washer Model code| Pad dia. Washer Model code| Pad dia.
HW10.5%18X1.6 |20, 25, 30mm Sponge Pad with frame __ HW10.56%22X1.6 | 935, 50mm
HW10.5X22X1.6 |40, 50mm [EediModellcode MiEad(diayg $/ .
ST — VP 10SCJA 210mm O-ring
Fattiotel oo Fada el i Sponge Pad wit rame_
VP20RL] | 020mm YP20SLIA | o20mm Pad Model code] Pad dia.
VP 25R] 225mm e VP3SSLIA | o85mm
VP 30RCJ 230mm Mm UPETELIA || Gl |
WO e | %l
VP EOR | aBomm includes an O-ring, a filter
VPS0RL] | o50mm and a stop ring. and a C-shaped r%taining
Pad support ring.
Pad support Model code | Pad dia. Filter Pad screw
VPW40 | o40mm Pad screw Model code| Pad dia.
VPWS0 | o50mm @ st VPM 610-12_ |35, 50mm
op ring
Padscrew (A stop ring is not necessary
Pad screw Model code| Pad dia. for pad dia. 810 and 15mm) @/ Filter
VPM 610-8 020, 25mm
VPM 612-10 | 030mm o
VPM610-15 | 7”40’ 50mm ®/ C-shaped retaining ring




PISCO.

http://en.pisSc0.CO.jp

@Pad size : 2X4mm,3.5X7mm.4X 10mm, 4 X 20mm. 4 X 30mm.5X 10mm.5X20mm. 5X 30mm.
6X10mm,6X20mm,6X30mm.8X20mm, 8X30mm

Gasket & Gasket

é« Frame Frame

VPM 610-15  |240, 50mm

Oval Pad with frame Oval Pad with frame <
Pad Model code| Pad size Pad Model code| Pad size ug
VP 2X4E[JA 2X4mm VP 4X20E[JA | 4X20mm )D>E
VP 3.5X7E[JA| 3.5X7mm VP 4X30E[JA | 4X30mm <
VP 4X10ELJA | 4X10mm VP 5X20E[JA | 5X20mm
VP 5X10E[JA | 5X10mm VP 5X30E[JA | 5X30mm
VP 6X10ELJA | 6X10mm VP 6X20E[JA | 6X20mm
3% Oval Pad with frame VP 6X30ELJA | 6X30mm
includes a gasket. VP 8X20E[JA | 8X20mm
Mark-free Pad VP 8X30E[JA | 8X30mm
"Pad Model code| Pad dia. % Oval Pad with frame
VP20Q[] | @20mm includes a gasket.
VP 30Q[] 230mm
@/ Plain washer @/ Plain washer
Washer Model code | Pad dia. Washer Model code| Pad dia.
HW10.5X18X1.6 020, 25, 30mm HW10.5X18X1.6 |220, 30mm
HW10.5X22X1.6 | 240, 50mm HW10.56X22X1.6 | 240, 50mm
Bellows Pad Skidproof Pad
"Pad odel code] Pad dia. © "Pad Model code] Paddia,
VP20BL] | ooomm VP2oK] | ozomm
VP2sBL] | oo5mm VPBOK | somm
VP 30B[] 230mm VP 40K[] 240mm
VP 40B[] 240mm VP 50K[] 250mm
VP 50B[] 250mm
- Pad support
@/ Padsupport _____ @/ Pad support Model code| Pad dia.
Padsupport Modelcode) Pad dia. VPW 40 240mm
VPW40 | o40mm VPW 50 250mm
VPW 50 250mm -
S — Pad screw
Pad screw Pad screw Model code| Pad dia.
Pad screw Model code| Pad dia. VPM 610-8 220mm
VPM 610-8 020, 25mm VPM 612-10 230mm
3 VPM 612-10 230mm VPM 610-15 |240, 50mm
'
'
'
'

Resin attachment (option)

Model code | Pad dia.
VP20BQ[]-AT| 920mm
VP25BQLJ-AT | @25mm
VP30BQ[J-AT| #30mm




II Vacuum Pad Series

. Vacuum Pad Long Stroke Series

VACUUM
PAD

885

N
Long Stoke
Seres




II Vacuum Pad Series

. Vacuum Pad

A Common Safety Instructions for Vacuum Pads

Before selecting or using PISCO products, read following instructions. Read the
detailed instruction for individual series as the instructions below.

A\ Warning I

1. Take safety measures in advance where a dropping work-piece can cause danger.

2. Make sure to install a vacuum pad holder securely. Looseness may cause trouble.

3. Pay special attention to the work conveyance by screwed vacuum pads, accompanied by
rotary movement. There is a possibility of troubles due to the looseness of screws from the
rotary movement.

4. There is a possibility of troubles due to the leakage of vacuum system, clogging, vacuum
pad abrasion, crack, deterioration, the galling of slider part in the holder and the looseness
in joints. Carry out maintenance inspection periodically.

5. When a work-piece is conveyed by a vacuum pad, consider the acceleration, impacts and
wind pressure. Otherwise, the work-piece may drop during conveyance.

A\ Caution N

1. Thoroughly read and understand the theoretical suction force in this catalog before
selecting diameter, Qty and suction place of vacuum pads. Select vacuum pads with
enough margin in suction force.

2. The product incorporating NBR as seal rubber material has a risk of malfunction caused
by ozone crack. Ozone exists in high concentrations in static elimination air, clean-room,
and near the high-voltage motors, etc. As a countermeasure, material change from NBR to

477 HNBR or FKM is necessary. Consult with PISCO for more information.

3. Select the material of vacuum pad in accordance with use environment and ease of use,
referring to “Vacuum Pad Selection Guide” .

4. Select the suitable pad shape (type) in accordance with a work-piece and its shape,
referring to “Vacuum Pad Selection Guide” .

5. Select spring-holder type when work-pieces have different heights or are weak against an
external force. Select the suitable holder type, referring to spring force and spring length in
the catalog.

B. Since spring-holder type has a sliding action, minimize the transverse load. Otherwise, the
life time of the holder can be reduced or malfunction of the holder can occur.

7.In replacing vacuum pads, check the structure of holders and pads in the catalog and
tighten the hexagonal-column of the holder with a proper tool, referring to the following
tightening torque.

@ Table. Tightening torque

Vacuum pad holder Standard
Pad screw size (mm) Tightening torque (N-m)

VACUUM
PAD

M4x0.7 0.5~10 0.9~11
M6x1 2~27

M10x1.5 5~7 -
M20x2 9~ 10 =

8. In replacing the adapters of Soft / Soft Bellows Series, check the structure of holders, pad
and adapters and tighten the hexagonal-column of the holder with a proper tool, referring to
the following tightening torgue.

@ Table. Tightening torgue
M4x0.7 0.7~0.8
M6x1 15~2.0




PISCO.

http://en.pisSc0.CO.jp

9. In installing vacuum pad holders of general and small type with bulkhead, check the
structure and tighten the hexagonal-column of the holder with a proper tool, referring to
the following tightening torque.

<
8
og
<
>
8<
mX>
M3x0.5 — — 0.7 — —_ 0.7 4]
M4x0.5 — — — 1~12 — = gg
M4x0.7 1~12 — —_ — — _ »
M5x0.5 15~2 — — 15~2 — —
M5x0.8 — —_ 1~15 — — 1~15
M6x0.75 2~3 — — 2~3 —
M8x0.75 25~35 1.8~2.4 — 25~35 —_
M8x1 — 18~24 — — — —
M10x1 5~7 45~6 — 5~7 4~6 —
M12x1 12~ 14 8~10 — = = =
M14x1 18 ~21 45~6 — — — — Standard
Series
M16x1 — 2~3 — — — —
M20x1 19~21 — — — — — Sponge
Series
M22x1 — 16 ~ 20 — — — —
M24x2 40 ~ 50 — — _ — — Bseélr?:/ss
M30x2 — 42 ~ 54 — — — _

10. In replacing vacuum pad rubbers of Standard Series ¢80, g100mm, g 150mm, g200mm
and Bellows Series e80mm, g100mm, check the structure of holders and pads and
tighten the hexagonal-column of the holder with a proper tool, referring to the following
tightening torque.

@ Table. Tightening torque

M4x0.7 Skidproof

M50 8 05~0.7 Series

11. Check the structure of vacuum pad in the catalog before replacing a filter element. U‘g‘éﬂ”
12. Refer to "Common Safety Instructions for Fittings” for handing fitting joint =
parts. SEE]

13. In installing spring-holder type, do not hold the shaft with a spanner.
In replacing vacuum pad, hold the hexagonal-column of the shaft with a
spanner. If the keyway (Bl is deformed, there is a possibility of malfunction.

14. Excessive tightening of a fixing nut may deform the bulkhead part and
result in malfunction of the keyway.

15. As the nature of rubber, powdery component like additives may come out
on the surface of a vacuum pad as time elapses.

Mark-free
Series

Vacuum
Cylinder

Air
Pincette




4

Vacuum Pad Series

Vacuum Pad

Vacuum Pad Selection Guide

Select the diameter of vacuum pad from the formula () and chart of the theoretical suction force @

VACUUM
PAD

479

The theoretical suction force is determined from pad area and vacuum level. Calculated
value is for reference only, so carry out the evaluation under an actual operating condition.
The theoretical suction force is calculated under a static condition. Obtain an enough
margin, considering the weight of a work-piece and acceleration of lifting, pause and rotary
movement. Enough room is needed in deciding a number of pads and arrangement position.

@ Calculation by formula

. Suction force (N)

. Pad area (cm?)

: Vacuum level (—kPa)

. Safety factor Horizontal liting (refer to the right fig.) » 1/4
Vertical lifting (refer to the right fig.) » 1/8

CXP 1013 xf

-~ TOS

*1. Refer to the following chart for Sponge Series.(Internal diameter is used for calculation)

*2. Refer to the following chart for Flat Series.(Pad grooves are used for calculation)

*3. As for Bellows, Multi-Bellows, Soft, Soft Bellows and Ultrathin Series, their theoretical suction force may
exceed the strength of pad itself, depending on the vacuum level. Carry out the evaluation under an
actual operating condition.

Horizontal liting

ol |

Vertical lifting

@ Chart of the theoretical suction force (Add safety factor to values from the chart)

I

Standard / Bellows / Multi-bellows / Soft / Soft bellows / Skidproof / Ultrathin / Mark-free (*)

Pad dia.(small) : 0.7mm ~ g4mm Pad dia. : 22mm ~ g15mm Pad dia. : 220mm ~ 50mm
1.4 20 250
o4 18 015
1.2
16 200 050
Z10 B >
X g K
I o o
<] - s —~ <] -
hat £ =12 £ *= 150 £
508 E 5 E |8 £
S % g g10 s |3 o0 g
@ 5 2 5 @ 5
§ 0.6 ° © / o T o
g g % 8 / 010 8 gwo 3
g S 6 8 30
0.4 o
[S - S / 08 = |~
| —1° 4 50 025
0.2 06 //
/ | _—1 015 2 L— od / | — 020
///_.— o1 — —t '”g %//
0 007 0 e ———— o — |
0 20 40 60 80 100 0 20 40 60 80 100 0 20 40 60 80 100
Vacuum level (—kPa) Vacuum level (—kPa) Vacuum level (—kPa)
Pad dia. : 60mm ~ 2200mm *. Some sizes are not available for some pad series. Refer to the following size list.
3500 Pad type | Standard | Bellows | Multibellows|  Soft | Soft bellows | Skidproof | Ultrathin | Mark-free
0200 20.7~03 [ J — — — — — — —
3000 o ° - - ° = = — —
= o6 [ ] [ — ] o — — —
=z
= %00 08 D ° D ° ° —
8
S T 210 [ J [ J [ [ [ J [ [ J [
§ 2000 £ 015 D o — ° D — ° —
B 2150
3 g &| o2 ° ° ° ° D ° ) °
g 1500 3 ol o D [ - - - - - -
£ / 5| 0% ° ° ° ° — o - °
3
£ 1000 3| o0 D o D 0 - D - —
2100 -
] 050 ° D ° - ° - -
500 g 080 260 [ [ J - - - - - -
60
" o0 | ® | @ | — | — | - | — [ - | -
0
0 20 40 60 80 100 0100 L] [ ] - - - -
Vacuum level (—kPa) 2150 [} — — — — —
2200 D — — — — — — —

@ indicates that pad size is available.



PISCO.

http://en.pisSc0.CO.jp

Sponge pad Flat pad Oval pad

Pad dia. : g10mm ~ g100mm Pad dia. : 210mm ~ 30mm Pad size | 2x4mm ~ 8x30mm
450 20 25
18 230 8x30
400 2100 /
350 16 20
z z z
< = 14 < 6x30
8 300 / g / 025 3 *
S ~ £ 4 € k] 5x30, £
€ 15
5 250 E § £ H 8x20 % -
2 > B 2
% 3 E 10 % § 4x30 g o2
— 200 070 ol b 2 6x20 30
© o 020 G T o et
S g £ 8 a S10 520 &[Sk
2 150 s 2 / / <
S 3 6 g / 4x20
5] 2 o}
£ / [S / 015 £ / L~
100 050 4 5 6x10 g
5x10 o<
— 010 / %5 4x10 mx>
50 o3 2 1 |a5x7 20
T —1 030 555 | — — : Qe
020 15 — | 2x4 2=
=15 % 20 40 60 80 100 0 b
0 20 40 60 80 100 0 20 40 60 80 100 w

Vacuum level (-kPa) Vacuum level (-kPa) Vacuum level (~kPa)

Standard
Series

Sponge
Series

Bellows
Series

Skidproof
Series

Ultrathin
Series

Flat
Series

Vacuum
Cylinder

Air
Pincette




& Vacuum Pad Series
Vacuum Pad

VACUUM
PAD

Select a vacuum pad type according to a work-piece

Please select suitable pads for your application from the following.

Standard Series

Bellows / Multi-bellows Series

General Deep
type

Small type

Thick & flat work-piece

Round fruit or ball (*1)

Small work-piece or
semiconductor product

Food package

Sponge Series

Oval Series

Exterior wall panel, pebble, seashell

Long work-piece (e.g. circuit board
and semiconductor product)

Soft / Soft bellows Series

Skidproof Series

Mark-free Series

&

Molded parts / Fragile work-piece

Greasy work-piece such as pressed
parts

LCD glass / in Painting process /
semiconductor

Ultrathin Series

Flat Series

Thin work-piece such as paper or plastic bag

Thin work-piece such as sheet or

plastic bag

*1. The table below is a reference for the vacuum pad deep type and the size of round

work-piece.

Spherical dia - S(m) | 020 | 030 | 240 [ 050 | 080 | 0100 | 120 | o160 | 0200

Pad dia. : d(mm)

| 015 | 020 | 025 | 030 | 040 | 050 | 060 | 80 | 0100

*2. Refer to the previous page for pad dia. selection except deep type. Refer to the
next page for the characteristics of pad materials.

F




PISCO.

http://en.pisSc0.CO.jp

Select a vacuum pad material from an application

Please select the suitable material from the table.

) Conductive Silicone
NBR Suited ) | Chloroprene
- " Conductive Butadiene | Conductive rubber
. Nitrile | for the food Silicone| Urethane | Fluoro | Fluorosiicone rubber (For
Pad material . HNBR Silicone EPDM | rubber (Low | NBR (low (For
rubber | sanitation rubber rubber | rubber | rubber ) ) Sponge
Item rubber resistance | resistance) Sponge
act. (Japan) type)
ype) Type)
N,
Material code G HN S SE U F FS EP E NE - S
NH(*1)
Cardboard Cardboard | Semiconductors | Cardboard | Chemical | Taking out | Application |  General | Semiconductors| Uneven | Uneven
Plywood Plywood Taking out Plywood | environment| molded | that requires | parisof work- | work- <
Metal plate Metalplate | molded parts Metal | Hightemp. | parts | light-resistant | semiconductors piece | piece )1;()3
Food-related | Foodrelated | Thin work-piece | plate | work-pieces o ozong- Food- DE
o Other general Other Food-related proof In use related £
Application )
work general work under in the >
In usg under moisfure- 8 <
. mX>
alow ozone containing [3e}
concentration aimosphere & s
environment o
Pad color Black | Gray | Black |Transiucent| Black | Blue | Gray |Salmon| Black | Black | Black | Black | Salmon
Standard 50°~80°|60°~70°|50°~70°| 50° 60° |55°~70°|60°~70° - 50°~70°| 70° |60°~70" - -
Bellows 50" — 50" 50° 60" 55° 60° — 50° — 60° — —
Multi-bellows 50° 50° 50° 50° — 55° 50° — 50° — 60° — —
Surface |Oval 40°~50° — 50" |40°~50"|50°~60"|55°(*2) |50°(*2) - 50° 70° 70° — —
hardness | Soft 40° — — 40° 60° — — 40° - - 50° - -
(Shore A) | Soft bellows 40" - 50" 40" — 55° — — 50° - 60° - -
3 Skidproof 50° - - 50° - 55° 60° - - - 60° - -
2. Ultrathin 40° — — 40° — 55° 50° 40° — — 60° — —
% Flat 60° - - 40" | 40" | 50" | 50° - - - 60° - - Stsan_dard
3 | Highest operating temp. 10°C 140°C 180°C 60°C | 230°C | 180°C | 150°C | 100°C | 110°C | 80°C | 180°C i
g_ Lowest operating temp. -30°C -30°C -40°C -20°C | -10°C | -50°C | -40°C | -50°C | -30°C | -45°C | -40°C Sponge
& [Weatherability A o o O [ 0|0 o000 a0 o |ks
Ozone-proof X O o [©] [©] [©] [©] X X O © Bellows
Acid-resistance A A O X [©) D [©} A A A O Series
Alkaline-resistance O O o X X [©} [©} ] O ©) ©)
Oil ‘ (Gasoline oil) [©] O A O (@] A X X O X A
resistance ‘ (Benzeneftoluene) AN X AN FaN O N X X A A A
Volume resistance — — — Max10%0.cm — — — — Max2000.cm | Max.2000-¢m —
Legend® O : Best
O : Suitable
AL Good
X NG
*1. Material code “NIH" is only applicable to Skidproof Series. Skidproof
*2. It does not apply to pad size: 4 X30mm. Series

Note 1) The above “Physical Properties” shows the data of general synthetic rubbers.

Ultrathin
Note 2) The highest / lowest operating temp. are for momentary usage. Carry out durability evaluation in case of continuous usage Series

under the highest / lowest operating temp.

Flat
Series

Vacuum
Cylinder

Air
Pincette




& Vacuum Pad Series
Vacuum Pad

Please select the suitable vacuum pad resin material from the table.

Pad material PEEK POM Conductive PEEK
Item Material ‘ Mark free series K M KE
code ‘ Resin attachment for Bellows series -QK -QM -QKE
Semiconductor/ General production line Semiconductors/
o Manufacturing machine for Food-related machine Manufacturing machine for
Application - . . Lo
liquid crystal Packaging machine liquid crystal
Electronic components
Pad color Natural (ivory) White Black
= Highest operating temp. 250°C 95°C 250°C
32 T | Lowest operating temp. -50°C -60°C -50°C
Qa § Weatherability o X o
= 2 | Acid-resistance [©) X )
_;6? Alkaline-resistance [©] A o
g |Self-lubricity O O O
& | Abrasion-resistance [©] [©) o
Volume resistance - — 105~108Q-cm
Legend® O : Best
O : Suitable
AT Good
X NG

Note 1) The above “Physical Properties” shows the data of pad resin material only. The holder of Mark-free Series is not included.

Note 2) The above “Physical Properties” shows the data of resin attachment only. The pad rubber is not included.

Note 3) The above ‘Physical Properties” shows general properties of resin materials and not a guaranteed value. Carry out the

483 necessary evaluation under an actual operating condition.

Note 4) The highest / lowest operating temp. is for momentary usage. Carry out durability evaluation in case of continuous usage
under the highest / lowest operating temp.

Note 5) Volume resistance is a representative value from the material manufacture, and not a guaranteed value.

To prevent dust from getting into the pad holder. To operate several vacuum pads by single vacuum source.

Install a vacuum filter pad direct mounting type between a vacuum pad Installing a fall prevention valve between a vacuum pad and a holder
and a holder. prevents the troubles like system break down, minimizing the vacuum
drop of the whole system automatically by reducing suction flow of the
part where the work-piece falls from the vacuum pad (within the range not
causing any problem), or no work-piece is to be sucked.

A Vacuum source

Vacuum generator

Pad holder Vacuum air from which dust was

removed by a vacuum filter.
Vacuum filter
pad direct mounting type

Vacuum air containing dust.
Vacuum pad

Work-piece

Fall prevention valve Vacuum pad Work];igce




PISCO.

http://en.pisSco.co.jp

Reference Guide for Vacuum Pad

Impact on pad

Avoid an impact or a large force on a vacuum pad, when it is
pressed against a work-piece. It may cause deformation, crack or
abrasion at an early stage of use. Adjust the pad position so that
the lip of pad touches lightly on a work-piece. Especially a small
type of vacuum pad should be positioned precisely.

Positioning within this

J ranf;e

Porous or perforated work-piece

Since the suction of a porous work-piece causes a drop of suction
force, select the proper specifications of vacuum system and secure
a larger effective cross-section area of the piping. Selecting a small
type of vacuum pad is one of solutions to reduce the air leakage.

Porous work-piece

Large and wide flat plate work-piece
When lifting large size of glass board or circuit board, work-piece
may bend by the lifting acceleration or the self-weight. Select a
proper size of pad and positioning, considering an enough margin
of suction force.

Large force by lifting i

[ Ay

Large size of glass board or circuit board

Lifting work-piece, sucking the both side of it

Since all vacuum pad holders are designed for horizontal lifting,
consider the strength of holders and pads.

Lifting

(|

O
Consider to reduce the stress | “T—Work-piece
against holders and pads !
by sucking the both sides of
work-piece.

Soft work-piece

When soft work-pieces such as plastic bags, papers or thin boards
are sucked, work-pieces can be deformed or shrunk by vacuum
suction (Figure-1). Select smaller vacuum pads and reduce the
vacuum pressure. Smaller vacuum pads are suitable for plastic
bags and papers. When plastic / paper bags are opened by using
vacuum pads, shift the center of two vacuum pads slightly in order
to open them easily as Figure-2 shows.

® Figure-2

Plastic bag, paper bag

® Figure-1

Plastic bag, paper, etc.

Work-piece with different heights

Select Long Stroke Series for work-pieces having different heights,
or piled-up work-pieces. Its stroke can absorb the difference in
height.

Long Stroke Series

Work-pieces having
different heights

Inclined work-piece

Select Free Holder for an inclined work-piece.

Pad holder

Free holder
Two selection of articulation
angle: 0-15°/0-30"

Inclined work-piece

Conveyance with rotary

When vacuum pad is fixed with a screw and has a rotary movement,
the pad may drop due to the loosened screw. Pay special attention
when the vacuum location of work-piece is off the center of work-
piece gravity.

Safety factor (1/8) of vertical liting
needs to be applied in rotary

conveys or lateral movement

avd
WNNOVA

WNNOVA

>
Q
e}
m
93
»
>
Py
m
»

Sponge
Series

Bellows
Series

Skidproof

e
oefl

Ultrathin
Series

Flat
Series

Vacuum
Cylinder

Air
Pincette




& Vacuum Pad Series

Vacuum Pad
B Pad dia. list by pad type and material IS

Pad material

N : Nitrile rubber

Pad type

Standard

General type | Deep type

Small type

Bellows

Multi-
Bellows

Soft

Soft
bellows

Ultrathin

Flat

0.7

o1

215

02

23

o4

26

08

210

215

220

025

(ww) "e1p ped

PAD

VACUUM

230

240

250

260

280

2100

2150

200

% . @ :available

Pad material

S : Silicone rubber

Pad type

Standard

General type | Deep type | Small type

Bellows

Multi-
Bellows

Soft

Soft
bellows

Flat  |Skidproof| Ultrathin

Sponge

485 20.7

o1

215

02

23

o4

26

08

210

215

220

025

(ww) "e1p ped

230

235

2040

250

260

270

280

2100

2150

2200

% . @ :available



PISCO.

http://en.pisSc0.CO.jp

Pad material U : Urethane rubber

Standard Multi- Soft
Pad Bell Skidproof | Ultrathi Flat
adtype General type | Deep type | Small type elows Bellows bellows e ratnin @

0.7
o1 [
215
02

23

o4

26

08

210
215
220
025
230
240
250
260
280
2100
2150
2200

% . @ :available

(ww) "e1p ped

avd
WNNOVA

INNNOVA

>
Q
(o]
m
»
173
>
By
m
»

Pad material F : Fluoro rubber G : NBR Suited for the food sanitation act. (Japan)

Standard Multi- Standard Multi-
Pad Bell Skidproof | Ultrathi Flat
eeligfpe Generaltype | Deep type | Small type eflows Bellows idproo ratin a General type | Deep type | Small type | Bellows

0.7
o1 [
215
02

3

o4

26

08

210
015
220
025
230
240
250
260
280
2100
2150
2200

% . @ :available

Standard
Series

Sponge
Series

Bellows
Series

(ww) "e1p ped

Skidproof
Series

Ultrathin
Series

Flat
Series

Mark-free
Series

Vacuum
Cylinder

Pincette




& Vacuum Pad Series
Vacuum Pad

Pad material SE : Conductive Silicone rubber = Conducuvg EERTERE [ Ot ; DB
rubber (Low resistance type) rubber Qilproof NBR

Standard Standard .
FEClgEE General type | Small type e S g General type | Small type Sponge e

0.7
o1 [
215
02

23

04

26

08

210
015
220
225
230
235
240
250
260
070
280
2100
2150
2200

. @ :available

PAD

VACUUM
(ww) "e1p ped

Pad material NE : Conductive NBR (low resistance)

Standard Multi- Soft
P Bell i ki f | Ultrathi FI
Bl General type | Deep type | Small type eflows Bellows — bellows SRR | Ui 2

487

00.7
o1 @
01.5
02
23
o4
06
28
210
215
220
025
230
240
250
260
280
2100

(ww) "eip ped

2150

2200

. @ :available



PISCO.

http://en.pisSc0.CO.jp

Pad material HN : HNBR EP ' EPDM FS ! Fluorosiicone rubber

Standard Multi- | Soft Standard Multi- | Soft ]
Pad type Bellows Bellows Soft | Ultrathin
General type | Deep type | Small type Bellows | bellows | General type | Deep type | Small type Bellows | bellows

20.7
o1 [
21.5
02

23

o4

06

28

210
015
220
025
230
240
250
260
280
2100
2150
2200

. @ :available

(ww) "e1p ped

avd
WNNOVA

INNNOVA

>
Q
(o]
m
19
1
>
By
m
»

E
et = = Ly ® zEﬁv Sl ch:IEr o =
ad matenall nitrile rubber | Siicone rubber | Urethane rubber | Fluoro rubber | _* o o0 | Buadenersber | ~ o> | HNBR EPDM
Silicone rubber rubber

(Low resistance type}

Pad type Oval
2x4
3.5x7
4x10
4x20
4x30
5x10
5x20
5x30
6x10
6x20
6x30
8x20
8x30

% . @ :available

Standard
Series

Sponge
Series

Bellows
Series

(ww) azis ped

Pad material . PEEK ‘ M : POM ‘ KE : Conductive PEEK | @2K : PEEK ‘ Q2M : POM ‘ G2KE : Conductive PEEK
Pad type Mark free Resin attachment for Bellows series Sg‘gﬁgﬂsﬂf
210 [ [ ° -

215
220 [ ] (] [ ]
025
230 [ ] (] [ J

% . @ :available

A

Ultrathin
Series

Flat
Series

(ww) azis ped

Mark-free
Series

Vacuum
Cylinder

Pincette




& Vacuum Pad Series
Vacuum Pad

B Construction (VPA holder : Fixed type / Top port) N

Fitting (@Nickel-plated brass)
([b)Special stainless steel?2)
Gasket ([@SPCC + NBR)
((BISUS316 + FKM)

Nut ([@Nickel-plated brass or Trivalent chromate carbon steel%3)
(b)Special stainless steel2)
Pad holder ([@Nickel-plated brass)
([b)Special stainless steel?2)
Pad screw ([@Nickel-plated brass)
()Special stainless steel*2)
Plain washer (Nickel-plated SPCC)

Vacuum pad

1]

g l Construction (VPC holder : Spring type / Top port) IS

Fitting (@Nickel-plated brass)
([b)Special stainless steel2)
Gasket ([@SPCC + NBR)
(EISUS316 + FKM)
Bush (Nickel plated aluminum)

VACUUM

Nut ([@Nickel-plated brass or Trivalent chromate carbon steel3)
([b)Special stainless steel%2)
Spring (SUS304)
Rotation stopper ([@Nickel-plated brass)
([b)Special stainless steelx2)
Shaft (@Nickel-plated brass)
([b)Special stainless steel%2)

Pad screw ([@Nickel-plated brass)

([b)Special stainless steelx2)
Plain washer (Nickel-plated SPCC)
Vacuum pad

Stroke

489

% 1. (@ : Standard spec. [b] : *-S3" spec.
% 2. Equivalent Corrosion Resistance to SUS303
% 3. Nut material differs depending on the bulkhead thread size.

Bulkhead thread size Nut material

(mm) Nickel-plated brass Trivalent chromate carbon steel

M5x0.5

M6x0.75

M8x0.75

M10x1

I |O|0|0|O
I

M12x1

M14x1

M16x1

M20x1

M22x1 —

I
11O|0|O|0|O] |

M24x2

O|O0

M30x2




Safety Instructions

/N Safety Instructions

This Safety Instructions aim to prevent personal injury and damage to
properties by requiring proper use of PISCO products.
Be certain to follow ISO 4414 and JIS B 8370.

ISO 4414 : Pneumatic fluid power---General rules and safety requirements for system

and their components.
JISB 8370 : General rules and safety requirements for systems and their
components.

This Safety instructions are classified into "Danger”, "Warning" and "Caution”, depending on
the degree of danger or damages caused by improper use of PISCO products.

D Hazardous conditions. It can cause death or

( i \ anger serious personal injury.

& W 4 Hazardous conditions depending on usages. Improper Use of
a rn I n g PISCO products can case death or serious personal injury.

& C .t' Hazardous conditions depending on usages. Improper use of PISCO
a U I O n products can cause personal injury or damages to properties.

/\ Danger I

1. Do not use PISCO products for the following applications.
@. Equipment used for maintaining / handling human life and body.
©@. Equipment used for moving / transporting human.
®. Equipment specifically used for safety purposes.

A\ Warning I

1. Selection of pneumatic products.

(@ A user who is a pneumatic system designer or has sufficient experience
and technical expertise should select PISCO products.

@ Due to wide variety of operating conditions and applications for PISCO
products, carry out the analysis and evaluation on PISCO products. The
pneumatic system designer is solely responsible for assuring that the
user’ s reguirements are met and that the application presents no health
or safety hazards. All designers are required to fully understand the
specifications of PISCO products and constitute all systems based on
the latest catalog or information, considering any malfunction.

2. Usage environment

Do not use PISCO products under the following conditions.

@. Beyond the specifications or conditions stated in the catalog, or the
instructions.

®. Use at outdoors.

®. Excessive vibrations and impacts.

@. Exposure / adhere to corrosive gas, flammable gas, chemicals,
seawater, water and vapor.

% . Safety Instructions are subject to change without notice.



PISCO.

http://en.piSco.co.jp

3. Handling of product

@. The pneumatic equipments shall be handled by a person having
enough knowledge and experiences. Improper use of compressed air is
dangerous. Assembly, operation and maintenance of machines using
pneumatic equipment should be conducted by a person with enough
knowledge and experience.

©®. Do not operate machine / eguipment or remove pneumatic eguipment
until safety is confirmed.

(1). Make sure that preventive measures against falling work-pieces or
sudden movements of machine are completed before inspection or
maintenance of these machine.

(2). Make sure the above preventive measures are completed. A
compressed air supply and the power supply to the machine must be
off, and also the compressed air in the systems must be exhausted.

(3). Restart the machines with care after ensuring to take all preventive
measures against sudden movements.

®. Do not disassemble or modify PISCO products, which affect the
performance, function, and basic structure of the product.

®. Take safety measures such as providing a protection cover if there is a
risk of causing damages or fire on machine / facilities by a fluid leakage.

®. Do not touch the release-ring of push-in fitting when there is a working
pressure.

®. Frequent switchover of compressed air may generate heat, and there is
a risk of causing burn injury.

@. Avoid any load on PISCO products, such as, a tensile strength, twisting
and bending. Otherwise, there is a risk of causing damage to the
products.

®. Do not use PISCO products for applications where threads or tubes
swing / rotate. The product can be damaged in these applications.

@. Do not force the product to rotate or swing even its resin body is
rotatable. It may cause damage to the product and a fluid leakage.

(. Do not supply excessively dry air to products. It may cause malfunction
due to a deterioration of rubber parts.

@. Do not wash or paint products with water or solvent. Solvent may
damage a resin body, or painting may cause malfunction.

@®.The product incorporating NBR as seal rubber material has a
risk of malfunction caused by ozone crack. Ozone exists in high
concentrations in static elimination air, clean-room, and near the high-
voltage motors, etc. As a countermeasure, material change from NBR
to HNBR or FKM is necessary. Consult with PISCO for more information.

@. Do not stand on a product, or put anything on it. It may cause falls,
personal injury or damage to the product.



Safety Instructions

Safety Instructions

Warranty I

When the product produces a trouble, which is caused by our responsibility,
we will carry out either one of the following measures immediately.

@. Free-of-charge replacement of same product

@®. Free-of-charge repair of the product at our factory

Disclaimer N

1. PISCO does not take any responsibility for any incidental or indirect loss,
such as production line stop, interruption of business, loss of benefits,
personal injury, etc., caused by any failure on use or application of PISCO
products.

2. When a cause of the trouble/malfunction applies to any of the following
items, it is excluded from the coverage of the above warranty.

. A case by a natural disaster, a fire except our responsibility, the act by
the third person/party, the intention or fault of the customer.

®. A case when a product is used out of the specific range or the method
listed in the product catalog or the instruction manual.

®. A case by the remodeling of the product or by a change of structure,
performance, or specifications which PISCO does not involved in.

@. A case by the event that is unpredictable by the evaluations and the

measures at the time on or before the initial delivery.

®. A case caused by the phenomenon that is able to be evaded if your
machine or equipment has functions or structures that are comprised in
a common sense when this product is incorporated in your machine or
eqguipment.

3. The damages caused by the defect of PISCO products shall be covered but
limited to the full amount of the PISCO products paid by the customer.
Additionally, the above warranty is limited simply to the product itself. The
damage induced by the trouble of the product will not be compensated.



PISCO.

Common Safety Instructions for Products Listed in This Manual - ~
http://en.pisco.co.jp

/I Common Safety Instructions for Products Listed in This Catalo

/A\ Caution I

1. An odd noise may be heard when supply pressures are immediately before
the peak of vacuum levels. The sounding of this odd noise means the
characteristics are unstable and the sound may become even noisier. This
situation can also adversely affect the sensor, resulting in a malfunction or
trouble. So reset the supply pressure.

% . Pressure range in which odd noise occurs is affected by atmospheric
pressure.

2. Piping design and equipment selection should be made with an effective
sectional area on supply pressure side of a vacuum generator being 3
times as large as the nozzle diameter as a standard. Insufficient air flow
may impair the performance of the product.

3. Do not use a lubricator on products.

4. Clean or replace silencer element periodically. There is a possibility of
dropping the performance or causing troubles by clogging on the element.
5. Keep products away from water, oil drops or dusts because they are
neither drip-proof nor dust-proof. Otherwise there is a possibility of causing

malfunction, damage to the products, or dropping the performance.

8. Piping
@. Compressed air contains a volume of drain (water, oxidized oil and

foreign material, etc.) Because the drain reduce product performance
remarkably, dehumidify air with an aftercooler and a dryer, and improve
the air quality.

©®. Do not use a lubricator on products.

®. Rust in pipe and inflow of foreign substances cause the trouble,
malfunction, and degradation of the product. Please install a filter (5um
or better filtration) in the compressed air supply line right in front of the
product. The flushing inside the pipe before use and in certain intervals
is recommended.

@. Remove dusts or drain before piping. They may get into the peripheral
machine / facilities and cause malfunction.

®. When inserting an ultra-soft tube into push-in fitting, make sure to place
an Insert Ring into the tube edge. There is a risk of causing the escape
of tube and a fluid leakage without using an Insert Ring.

®. Arrange piping avoiding any load on fittings and tubes such as twist,
tensile, moment load, shaking and physical impact. These may cause
damages to fittings, tube deformations, bursting and the escape of
tubes.

@. Install protective cover when using at a place getting the direct
sunlight.

®. Be sure to confirm each port of a vacuum generator with its appearance
drawing or the marking on it before piping. Incorrect piping has a risk of
damaging the product.

@. Plumb a pressure sensor and a vacuum generator with pressure sensor
at the end of vacuum system as much as possible. A long distance
between a pressure sensor and a vacuum system end may increase
plumbing resistance which may lead to a high vacuum level at the
sensor even when no suctioning and a malfunction of pressure sensor.
Make sure to evaluate the products in an actual system.



Common Safety Instructions for Products Listed in This Manual

@. A Shorter distance of plumbing with a wider bore is preferable at
vacuum system side. A long plumbing with a small bore may result in
slow response time at the time of releasing work-piece as well as in
failure to secure adeqguate suction flow rate.

@. In case of using non-PISCO brand tubes, make sure the tolerance of the
outer tube diameter is within the limits of Table 1.

@ Table 1. Tube O.D. Tolerance

m Nonn tube | Polyurethane tube Nylon tube  |Polyurethane tube

21.8mm +0.05mm 1/8 +0.1mm +0.15mm

@2mm = +0.05mm 25/32 +0.1mm +0.15mm
@3mm — +0.15mm 03/16 +0.1mm +0.15mm
@4mm +0.1mm +0.15mm o1/4 +0.1mm +0.15mm
@6mm +0.1mm +0.15mm 25/16 +0.1mm +0.15mm
o8mm +0.1mm +0.15mm 23/8 +0.1mm +0.15mm
210mm +0.1mm +0.15mm @1/2 +0.1mm +0.15mm
o12mm +0.1mm +0.15mm 25/8 +0.1mm +0.15mm
@16mm +0.1mm +0.15mm

7-1. Tube insertion (Push-in fitting)
@. Make sure that the cut end surface of the tube is at a right angle
without a scratch on the tube surface or deformations.
®. When inserting a tube, the tube needs to be inserted fully into the
push-in fitting until the tubing edge touches the tube end of the fitting
as shown in the figure below. Otherwise, there is a risk of leakage.

Tube end O

Tube is not fully inserted up to tube end.

®. After inserting the tube, make sure it is inserted properly and not to
be disconnected by pulling it moderately.
¥ . When inserting tubes, Lock-claws may be hardly visible in the hole,
observed from the front face of the release-ring. But it does not
mean the tube will surely escape. Major causes of the tube escape
are the followings; @ Shear drop of the lock-claws edge ® The
problem of tube diameter (usually small). Therefore, follow the above
instructions from @ to @, even lock-claws is hardly visible.
7-2. Tube insertion (Compression fitting)
@. Make sure that the cut end surface of the tube is at a right angle
without deformations or a scratch on its inner and outer surface.




PISCO.

http://en.piSco.co.jp

®. Pass the tube through the nut and insert the barb into the tube up
to the barb end. Then tighten the hexagonal-column of the nut with a
proper tool.

®. Refer to Table 2 which shows the tightening torque.
¥ . Hold the tube when tightening the nut, since the tube may rotate

along with the nut.

®. Make sure that the nut touches the metallic body. If not, loosen the
nut, disconnect the tube and start over again from the process @.

®. Make sure that there is no leakage after tightening the nut.

®. After inserting the tube, make sure it is inserted properly and not to
be disconnected by pulling it moderately.
@ Table 2. Nut tightening torque

210 Max.4N-m
012 Max.5N-m
016 Max.14N-m

8-1. Tube disconnection (Push-in fitting)
@. Make sure there is no air pressure inside of the tube, before
disconnecting it.
®@. Push the release-ring of the push-in fitting evenly and deeply enough
to pull out the tube toward oneself. By insufficient pushing of the
release-ring, the tube may not be pulled out or damaged by scratch,
and tube shavings may remain inside of the fitting, which may cause
the leakage later.
8-2. Tube disconnection (Compression fitting)
@. Make sure there is no air pressure inside of the tube, before
disconnecting it.
®. Use a proper tool to loosen the nut. Then disconnect the tube.
9. Installation of a fitting
@. When installing a fitting, use proper tools to tighten a hexagonal-
column or an inner hexagonal socket. When inserting a hex key into the
inner hexagonal socket of the fitting, be careful so that the tool does
not touch lock-claws. The deformation of lock-claws may result in a poor
performance of systems or an escape of the tube.
®@. Refer to Table 3 which shows the tightening torque. Do not exceed
these limits to tighten a thread. Excessive tightening may break the
thread part or deform the gasket to cause a fluid leakage. Tightening
thread with tightening torque lower than these limits may cause a
loosened thread or a fluid leakage. Since the sealability is affected by
the processing condition of the installing part, adjust the tightening
torque or correct the installing part, according to the condition.
®. Adjust the tube direction while tightening thread within these limits,
since some PISCO products are not rotatable after the installation.



Common Safety Instructions for Products Listed in This Manual

@ Table 3. Tightening torque / Sealock color / Gasket materials

M3 X 0.5 0-7N-m SUS304+NBR
M5 X 0.8 1 ~15N-m SPCC+NEBR
M6 X 1 2 ~2.7N'm
Metric thread M3 X 0.5 0.7N-m n/a
M5 X 0.8 1 ~15N-m
M6 X 0.75 0.8 ~1N'm POM
M8 X 0.75 1~2Nm
R1/8 4.5~ 6.5N-m
. R1/4 7 ~9N-m .
Taper pipe thread R3/3 12.5 ~ 145N White
R1/2 20 ~ 22N-m
Unified thread No.10-32UNF 1 ~15Nm n/a SUS304+NBR, SPCC+NBR
1/16-27NPT 4.5 ~ 6.5N-m
National Pipe 1/8-27NPT 4.5~ 6.5N-m
LLICED IR Tos 1/4-18NPT 7 ~9N-m White
(American
standard) 3/8-18NPT 12.5 ~ 14.5N-m
1/2-14NPT 20 ~ 22N-m
G1/4 12 ~ 14N-m
G thread G3/8 22 ~ 24N-m n/a Aluminum + PBT
G1/2 28 ~ 30N-m
% . These values may differ for some products. Refer to each specification as well.

@. When removing a fitting, use proper tools to loosen a hexagonal-column
or an inner hexagonal socket. When inserting a hex key into the inner
hexagonal socket of the fitting, be careful so that the tool does not
touch lock-claws. The deformation of lock-claws may result in a poor
performance of systems or an escape of the tube.

®. Remove the sealant stuck on the mating equipment. The remained
sealant may get into the peripheral equipment and cause malfunctions.

10. Handling of fitting

@. Impact caused by dropping or the like may lead to damage to the

product and a fluid leakage.



